% E2ARA Technical Data

EVMS

Vertical
Multistage
Pumps

° with unique low axial
{ thrust impeller design

5/7UFFIC’E”E

—

N
-/

Any motor - Anywhere

EBARA pumps ausTRALIA PTY. LTD. EVMS_Techdata_SS V17




VERTICAL PUMPS EVMS

CONTENTS 50 Hz

Important Note: Text and Performance curves in Grey are not part of EPA Market range.

SPECIFICATIONS Page
PRODUCT FEATURES 100
PRODUCT SPECIFICATIONS 101
SHAFT SEAL 102
TYPE KEY 103
PERFORMANCE RANGE 104
CURVE SPECIFICATIONS 105
SELECTION CHART 106-107

PERFORMANCE CURVES & TECHNICAL DATA

PERFORMANCE CURVE - EVMS1 200
TECHNICAL DATA - EVMST 201
SECTIONAL VIEW - EVMSH 202
SECTIONAL TABLE - EVMS1 203
QUANTITY FOR MODEL - EVMST 204
PERFORMANCE CURVE - EVMS3 205
TECHNICAL DATA - EVMS3 206
SECTIONAL VIEW - EVMS3 207
SECTIONAL TABLE - EVMS3 208
QUANTITY FOR MODEL - EVMS3 209
PERFORMANCE CURVE - EVMS5 210
TECHNICAL DATA - EVMS5 211
SECTIONAL VIEW - EVMS5 212
SECTIONAL TABLE - EVMS5 213
QUANTITY FOR MODEL - EVMS5 214
PERFORMANCE CURVE - EVMS10 215
TECHNICAL DATA - EVMS10 216
SECTIONAL VIEW - EVMS10 217
SECTIONAL TABLE - EVMS10 218
QUANTITY FOR MODEL - EVMS10 219
PERFORMANCE CURVE - EVMS15 220
TECHNICAL DATA - EVMS15 221
SECTIONAL VIEW - EVMS15 222
SECTIONAL TABLE - EVMS15 223
QUANTITY FOR MODEL - EVMS15 224
PERFORMANCE CURVE - EVMS20 225
TECHNICAL DATA - EVMS20 226
SECTIONAL VIEW - EVMS20 227
SECTIONAL TABLE - EVMS20 228
QUANTITY FOR MODEL - EVMS20 229

PACKING DATA

PACKING DRAWING 300

PACKING DATA 301-302
MOTOR DATA

TECHNICAL MOTOR DATA 400

B E3ARA EPA



VERTICAL PUMPS EVMS

PRODUCT FEATURES 50 Hz

[General]
1. Pump Type
The EVMS is a Non-self- priming, vettical multistage in line, centrifugal pump.
2. Model range
The EVMS comes in 3,5,10,15 anchd 20 m3/h flow sizes for the majority market needs.
3. Maximum operating pressure
The EVMS can be operated at 16 bar or 25 bar as maximum.
4. Operating temperature range
The EVMS can be operated from -30 to + 140 degress celsius as the maximum.
5. Motor ‘
The EVMS can be coupled with IEC standard motors.
6. Certifications
DM174/2004 ACS KTW
o~ \“IU’(,’
Drinking water approval S AGS:
’.r,“ ‘_.\\a\\ EEATITiEE COMPAMBUTS
Mechanical seal SiC/Carbon_EPDM SiC/Carbon_EPDM SiC with graphite/SiC_EPDM
Note: * KTW is certified for components.
7.

Conform to the provisions of the European directives c €

[Main Product Features]

1.

Innovative hydraulic solutions

» Commercial motors can be fitted to all of the pump models without any modifications thanks to low pump axial thrust
load.

* Low axial thrust load impeller can ensure long life of the motor bearing.

« High pump efficiency classified in MEI > 0.7 for all models.

Energy saving

« High efficiency E3 motors starting from 0.75kW can be fitted as an option.

* A VFD (Varible frequency drive) and the commercial sensor can be directly mounted on EVMS to maintain physical
constant operations such as pumping pressure depending on the coditions of use.

Shaft seal solutions
« Silicon carbide inclusions with graphite can be used as dry lubricant to reduce friction.
* It’'s conforming to EN12756 (ex DIN 24960)

Easy maintenance

» The cartridge mechanical seal enables the plug in replacement of the shaft seal without disassembling the motor
bracket

- The spacer coupling allows easy maintenance without having to remove heavy motors over 5.5 kW.

Smart plug solutions
Air ventilation plug / Water filling & sensor plug / Commercial sensor fitting / Measurements for suction and discharge
pressure / drain

100

B E3ARA EPA



VERTICAL PUMPS

EVMS

SPECIFICATIONS - PRODUCT SPECIFICATIONS

50 Hz

PUMP
EVMS
Operating [Maximum working pressure 1.6/2.5MPa (16 bar/ 25 bar)
range Liquid temperature range -30°C to 140°C
Impeller EN 1.4301 (AISI 304)
Intermediate casing EN 1.4301 (AISI 304)
Liner ring EN 1.4301 (AISI 304) + PPS
Bottom casing EN 1.4301 (AISI 304)
Casing cover EN 1.4301 (AISI 304)
EN 1.4301 (AISI 304) | EVMS 1-3-10, EVMS  5-15-20 (depend on models)
Shaft
EN 1.4462 (AISI 329A) EVMS 5-15-20 (depend on models)
Ke
Compo‘r,\ents Shaft sleeve bearing Tungsten carbide
Material Shaft Seal See the shaft seal options
) EPDM Standard
O-ring
FPM Optional
Outer casing EN 1.4301 (AISI 304)
Motor Bracket Cast Iron
Tie rod Galvanized steel 6.8 strength class 1$SO 898/1
) up to 4 kW Die cast aluminium
Coupling
from 5.5 kW Cast Iron
Base Die Cast Aluminium
Pipe |Round flange (DIN) Standard - All models
connection
Motor Standard In Australia (WEG W21 E2 motors) Options available on request
Frequency 50 Hz
Phase Three Phase Single Phase (up to 3 kW)
Rotation Speed ~ 2900 min
Power
Source Power Rating 0.37 + 18.5 kW
0.5+25 HP
230/400 £ 10% (up to 3 kW)
Voltage 400/690 + 10% (4.0 kW & above)
Type Electric - TEFC other enclosures on request
Efficiency E2 E3 from 0.75t0 18.5 kW (3ph)
e No. of poles 2
Protection Degree IP 55 IP 56, IP 66
Insulation Class F (temperature rise class B) H (temperature rise class B)
Casing Material Aluminium(up to 7.5 kW) / Cast Iron (11 kW & above) Cast iron
RLEE Flange Mount IM B14 (up to 4 kW)
(IEC motor) IM B5 (5.5 kW & above)

101

B E3aRA

EPA



VERTICAL PUMPS EVMS

SHAFT SEAL 50 Hz

d4 d4
) T
Ll 1 d3 ( 7 1 'd3 [7
~ d1 ~ 1 d1
[0 [
1 |5 & 1
up to 16 bar from 16 to 25 bar
Cartridge Unbalanced type Cartridge Balanced type
Legend: @ Standard O options () Type key
Shaft seal type Shaft seal material
Pump Max liquid al typ
temperature Cartridge 1 2 3 4 5 Type key
model range Rotati Stat
g Unbalanced | Balanced oParItng F:grr:ary Elastomers Spring Collar
-30°C to + 120°C o SiC (Q) Carbon (B) EPDM (E) AlISI316 (G) QiBEG
-30°C to + 80°C o SiC (Q) Carbon (B) FPM (V) AlISI316 (G) QiBVG
o ° SiC with .
up to 16 bar | - 30°C to + 140°C (0] graphite (Qq) SiC (Q1) EPDM (E) AISI316 (G) HQQEG
c . SiC with :
-30°C to + 80°C (@] graphite (Qq) SiC (Q1) FPM (V) AlISI316 (G) HQ,Q1VG
-30°C to + 140°C o SiC (Q1) Carbon (B) EPDM (E) AISI316 (G) HQ:BEG
-30°C to + 140°C ® SiC(Qi) | Carbon (B) | EPDM (E) AISI316 (G) HQBEG
-30°C to + 80°C o SiC(Q) | Carbon (B) | FPM (V) AISI316 (G) HGBVG
from 16 bar
to 25 bar SIC with
o o 1 Wi .
-30°C to + 140°C o graphite (Qq) SiC (Q1) EPDM (E) AlISI316 (G) HQ.QIEG
-30°C to + 80°C o SIC with Sic (@) FPM (V) AISI316 (G) HQ,QIVG
graphite (Qg) g
Pump model Shaft seal Max operating di a2 a3 a4 l
type pressure mm] | [mm] mm] [ fmmy [ mm]
Unbalanced 16 bar - 35
EVMS 1/3/5 Cartridge 16 23 27
Balanced 25 bar 20 42.5
Unbalanced 16 bar - 37.5
EVMS 10/15/20 Cartridge 20 29 35
Balanced 25 bar 24 45

102

B E3ARA EPA




VERTICAL PUMPS EVMS

TYPE KEY 50 Hz

EVMS 1-3-5-10-15-20
CEvms |51 [ J[2][ J[F][5]1[ J[aBEG][E]T7 11037 M|
Phase motor
M = single phase
null = 3 phase
Motor in kW
|__|Code for rubber parts
V = FPM (Viton)
E = EPDM

L {Code for shaft seal materials

Pole
Null = 2 pole

Frequency
5=50Hz

Code for pipe connection
F = Round flange

N = Oval flange

LF = Loose round flange

V = Victaulic® connection
C = Clamp connection

Code for pump version
null = standard version

| Number of impellers
|Space
| Flow rate [m3/h]
|1 |3|5]10]|15|20
| Serles name
Example for pump without motor Example for pump with motor
EVMSS5 2F5Q 1BEGE EVMSS5 2F5Q 1BEGE/0.37M
NAMEPLATE
c E 1)  “TYPE” Pump model
2) Q Indicates upper and lower flow rate limits
MADE IN ITALY 3) “H” Indicates head limits corresponding to minimum and maximum flow rate
TYPE O 4)  “Hmax” Maximum head
; 5)  “Hmin” Minimum head
O ‘Hmax @ m_|Hrin @ m ‘ O 6) “P2” Rated power of the motor (output at shaft)
'O Umin |H ® m 7)  “HP” Rated power of the motor expressed in HP (Horse Power)
R () WH min* (9) 8) “Hz' Frequency
HP @ o 9)  “min-1” Speed of rotation
10)  “P/N°” Pump item number
wel> (i) ok (1) % 11)  “MEI Index of the pump’s quality in relation to its efficiency
12)  “Hyd. Eff. 7 Hydraulic efficiency of the pump

103

B E3ARA EPA




VERTICAL PUMPS EVMS

PERFORMANCE RANGE 50 Hz

USgam. 5 10 5 2 0 40 50 60 70 8 90100 120 140160180200 250 300 350400 500
| | | | | | | | I I | | 11 1 | | 11 |
T T T T T T 1 T T T T T T T T 1 T T T
mpgpm. 5 10 5 @ 0 4 5D 60 70 80 90100 120 140 160180200 250 300 350 400
40 400
p H 1200
MP
MPal 50 ™ a0 S ol
N L k
25- 250 - i el
20 200 —— T . T I
: ; 5 . S SR EE RN - 600
| | | ~
159 150 i i : ! - 500
| | | |
124 120 ; — ; i 400
| I —
104 100 | . | I 350
i o I 300
- 1 Ml
R : & | -250
| | | !
06 60 | Ly | | L 200
I I |
| | - - Ia . Al L L
08 % | 1 3 5 0[ 15120032 457764 150
04 4 |
0.3 30 | I — 100
[ i
| | 75
0.2+ 20 i = T - ==t
0.15 15 il i 50
T T ——— ITT IS
\ ~. - 40
N\ \ \
0.1 10
N\ \ T
0.09- 9 \ \H--JM 2
0.08- 8 \ s
0.07 7 |
0.06- 6 20
0.05- 5
- 15
0.04 - 4
910 520 30 40 50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000
Q [Vmin]
I T T T T T T T T T 17 T T T 17T T T T T T T T
1 15 2 3 4 5 6 7 891 1214161820 25 30 40 5 60 70 100 3
Q[m'm)
0 FEFRF RRERR
LY 5
n 8 520 [ —Ei—F
4 50 | 10— T
60 1 ;_ - o —’ - A
-~ -l 32
50 P L
40 el
30
910 520 30 40 50 60 80 100 120 150 200 250 300 400 500 GOO 700800 1000 1200 1500 2000
Q [Vmin]

EPA



VERTICAL PUMPS EVMS

CURVE SPECIFICATIONS 50 Hz

The specifications below qualify the curves shown on the following pages.

Tolerances according to ISO 9906:2012 - Grade 3B.

The curves refer to effective speed of asynchronous motors at 50 Hz, 2 poles.

Measurements were carried out with clean water at 20°C of temperature and with a kinematic
viscosity of n = 1 mm?/s (1 cSt).

The NPSH curve is an average curve obtained in the same conditions of performance curves.
During the pump selection, consider to get a safety margin of at least 0.5 m.

The continuous curves indicate the recommended working range. The dotted curve is only a guide.

In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10% of
best efficiency point.

Symbols explanation:

Q = volume flow rate

H = total head

P, = pump power input (shaft power)

h = pump efficiency

NPSH = net positive suction head required by the pump
MEI = minimum efficiency index

The minimum efficiency index (MEI) is a measure of the quality of a pump size in respect to its mean
efficiency. The minimum efficiency index is based on the hydraulic efficiency and on the head at the
best efficiency point.

The efficiency of a pump with trimmed impeller is usually lower than that of a pump with the full impeller
diameter. The trimming of the impeller will adapt the pump to a fixed duty point, leading to a reduced
energy consumption. The minimum efficiency index (MEI) is based on the full impeller diameter.

The operation of these water pumps with variable duty points may be more efficient and economical
when controlled, for example, by the use of a variable speed drive that matches the pump duty to the system.

Minimum efficiency index (MEI)

Pump type MEI

EVMS1 > 0.70
EVMS3 >0.70
EVMS5 >0.70
EVMS10 >0.70
EVMS15 >0.70
EVMS20 >0.70

105

B E3ARA EPA




VERTICAL PUMPS

EVMS

SELECTION CHART

50

Hz

EVMS 1-3-5
Maximum Q=Capacit;
Pump Type Motor working [Vmin 0| 12 | 20 | 30 | 40 | 60 | 75 | 100 | 130
kW HP  Size | pressure I[m¥h 0/ 072 | 1.2 | 1.8 | 24 | 36 | 45 | 6 | 78
Single phase Three phase (MPa) H=Total manometric head in meters
EVMST1 2/0.37M EVMS1 2/0.37 037] 05| 71 119 [112] 104 | 91 | 741 E E
EVMS1 3/0.37M EVMS1 3/0.37 037/ 05| 71 17.9 | 168 | 156 | 13.6 | 10.6 - -
EVMS1 4/0.37M EVMS1 4/0.37 037] 05| 71 238 | 224 | 208 | 182 | 142 - -
EVMS1 5/0.37M EVMS1 5/0.37 037/ 05| 71 30 28 26 | 227 | 177 - -
EVMS1 6/0.37M EVMS1 6/0.37 037] 05| 71 358 | 336 | 312 | 273 | 212 - -
EVMS1 7/0.37M EVMS1 7/0.37 037/ 05| 71 415 | 392 364 | 318 [ 2438 - -
EVMS1 8/0.37M EVMS1 8/0.37 037/ 05| 71 475 | 445 415 | 36.4 | 283 - -
EVMS1 9/0.55M EVMS1 9/0.55 055]0.75| 71 535 | 505 | 47 41 | 318 - -
EVMS1 10/0.55M EVMS1 10/0.55 055]0.75] 71 596 | 56 52 | 455 | 354 - -
EVMS1 11/0.55M EVMS1 11/0.55 055]0.75] 71 16 655 | 615| 57 50 | 38.9 - -
EVMS1 12/0.55M EVMS1 12/0.55 055]0.75| 71 715 | 67 | 625 | 545 | 425 - -
EVMS1 13/0.55M EVMS1 13/0.55 055]0.75] 71 775 | 73 | 675 | 59 | 46 - -
1 | EVMST14/0.75M EVMS1 14/0.75 075] 1 80 835 | 785 | 73 | 635 | 495 - -
EVMS1 16/0.75M EVMS1 16/0.75 075] 1 80 955 | 895| 83 | 725 565 - -
EVMS1 18/1.1M EVMST 18/1.1 11 ] 15[ 80 107 | 101 | 935 | 82 | 635 - -
EVMS1 20/1.1M EVMS1 20/1.1 11]15] 80 119 | 112 | 104 | 91 71 - -
EVMS1 22/1.1M EVMS1 22/1.1 11]15] 80 131 | 123 | 114 | 100 | 78 - -
EVMST 24/1.1M EVMS1 24/1.1 11]15] 80 143 | 135 | 125 | 109 | 85 - -
EVMS1 26/1.1M EVMS1 26/1.1 11]15] 80 155 | 146 | 135 | 118 | 92 - -
EVMS1 27/1.5M EVMS1 27/1.5 15| 2 | 9058 161 | 151 | 140 | 123 | 955 - -
EVMS1 29/1.5M EVMS1 29/1.5 15| 2 | 908 173 | 163 | 151 | 132 | 103 - -
EVMS1 32/1.5M EVMS1 32/1.5 15| 2 | 90s o5 191 | 179 | 166 | 145 | 113 - -
EVMS1 34/1.5M EVMS1 34/1.5 15| 2 | 908 ) 203 | 191 | 177 | 155 | 120 - -
EVMS1 37/2.2M EVMS1 37/2.2 22| 3 | 9oL 221 [ 207 | 192 [ 168 | 131 - -
EVMS1 39/2.2M EVMS1 39/2.2 22 3 | 9oL 232 | 219 ] 203 | 177 | 138 | - - -
EVMS3 2/0.37M EVMS3 2/0.37 0.37] 05 71 14.7 E 141 | 136 ] 129 ] 109 | 8.3 E
EVMS3 3/0.37M EVMS3 3/0.37 037] 05| 71 221 - 211 | 204 | 194 | 164 | 125 | -
EVMS3 4/0.37M EVMS3 4/0.37 037/ 05| 71 29.5 - | 282 | 271 258 219 [ 167 - -
EVMS3 5/0.55M EVMS3 5/0.55 055]0.75| 71 36.9 - 352 | 339 | 323 | 274 | 209 | -
EVMS3 6/0.55M EVMS3 6/0.55 055075 71 44.2 - | 425 | 405 | 38.8 | 32.8 | 25 - -
EVMS3 7/0.75M EVMS3 7/0.75 0.75] 1 80 51.5 - 495 | 475 45 | 383 [ 292 -
EVMS3 8/0.75M EVMS3 8/0.75 075 1 80 59 - | 565 | 545|515 | 44 | 334 - -
EVMS3 9/1.1M EVMS3 9/1.1 11 15| 80 66.5 - 635 | 61 | 58 | 49 | 376 | -
EVMS3 10/1.1M EVMS3 10/1.1 1.1 /15| 80 16 735 - | 705 | 68 | 645 545 | 415 | - -
EVMS3 11/1.1M EVMS3 11/1.1 11]15] 80 81 - 775 | 745 | 71 60 | 46 -
EVMS3 12/1.1M EVMS3 12/1.1 1115 80 88.5 - | 845 | 815 | 775 | 65.5 | 50 - -
EVMS3 13/1.5M EVMS3 13/1.5 15] 2 [ 90s 2% - 915 | 88 | 84 | 71 | 545] -
3 | EVMS314/1.5M EVMS3 14/1.5 15| 2 | 90S 103 - | 985 | 95 | 905|765 | 585 | - -
EVMS3 15/1.5M EVMS3 15/1.5 15] 2 [ 90s 111 - 106 | 102 | 97 | 82 | 625 -
EVMS3 16/1.5M EVMS3 16/1.5 15| 2 | 90s 118 - 113 | 109 | 103 | 875 | 67 - -
EVMS3 17/2.2M EVMS3 17/2.2 22| 3 | 9oL 125 - 120 | 115 | 110 | 93 | 71 -
EVMS3 19/2.2M EVMS3 19/2.2 22| 3 | 9oL 140 - 134 | 129 | 123 | 104 | 795 | -
EVMS3 21/2.2M EVMS3 21/2.2 22 3 | 9oL 155 - 148 | 142 | 136 | 115 | 875 | - -
EVMS3 23/2.2M EVMS3 23/2.2 22 3 | 9oL 170 - 162 | 156 | 149 | 126 | 96 -
EVMS3 24/2.2M EVMS3 24/2.2 22 3 | 9oL 177 - 169 | 163 | 155 | 131 [ 100 | - -
- EVMS3 25/3.0 30| 4 | 100L 184 - 176 | 170 | 161 [ 137 | 104 | -
EVMS3 27/3.0 3.0 4 | 100L 25 199 - 190 | 183 | 174 | 148 | 113 | -
EVMS3 29/3.0 30| 4 | 100L 214 - 204 | 197 | 187 | 159 | 121 -
EVMS3 31/3.0 3.0 4 | 1o0L 229 - 218 | 210 | 200 | 170 [ 129 | -
- EVMS3 33/3.0 3.0 4 | 100L 243 - 232 | 224 | 213 | 181 | 138 | - -
EVMS5 2/0.37M EVMS5 2/0.37 037] 05| 71 19 - - 18 | 171 ] 16 | 13.8 | 102
EVMSS5 3/0.55M EVMSS5 3/0.55 055075 71 28.4 - - - | 269 | 256 | 23.9] 207 | 153
EVMSS5 4/0.75M EVMSS5 4/0.75 0.75] 1 80 37.9 - - - | 359|341 |31.9] 276 | 204
EVMS5 5/1.1M EVMSS5 5/1.1 1115 80 475 - - - 45 | 425 | 39.9 | 345 | 255
EVMS5 6/1.5M EVMS5 6/1.5 15| 2 | 90s 57 - - 54 | 51 | 48 | 415 | 30.6
EVMS5 7/1.5M EVMS5 7/1.5 15 2 | 90S 66.5 - - - 63 | 59.5 | 56 | 48.5 | 35.7
EVMS5 8/2.2M EVMSS5 8/2.2 22| 3 | 9oL 76 - - 72 | 68 | 64 | 55 | 41
EVMS5 9/2.2M EVMS5 9/2.2 22| 3 90 L 1.6 85.5 - - - 81 77 72 62 46
EVMS5 10/2.2M EVMS5 10/2.2 22| 3 | 9oL 95 - 9 |855| 80 | 69 | 51
5 | EVMS511/2.2M EVMS5 11/2.2 22 3 | 9oL 104 - - - | 985 | 94 |875| 76 | 56
- EVMS5 12/3.0 3.0 4 | 100L 114 - - 108 | 102 [ 955 | 83 | 61
- EVMSS5 13/3.0 30 4 [ 100L 123 - - - [ 117 | 111 | 104 | 89.5 | 66.5
EVMS5 14/3.0 30| 4 | 100L 133 - - 126 | 119 | 112 | 965 | 715
- EVMS5 15/3.0 30 4 [ 100L 142 - - - | 135 | 128 | 120 | 104 | 76.5
EVMS5 17/4.0 40 [ 55| 112M 161 - - 153 | 145 | 136 | 117 | 865
EVMS5 19/4.0 40 [ 55| 112M 180 - - 171 | 162 | 152 | 131 | 97
- EVMS5 20/4.0 40 [ 55| 112M 190 - - - | 179 | 171 | 160 | 138 | 102
EVMS5 23/5.5 55| 75 132S 25 218 - - 206 | 196 | 183 | 159 | 117
EVMS5 25/5.5 55| 75| 132S 237 - - 224 | 213 | 199 | 173 | 127
EVMS5 27/5.5 55| 75| 132S 256 - - 242 | 230 | 215 | 186 | 138

1.6 MPa=16 bar ; 2.5 MPa=25 bar

106

B E3aRA

EPA



VERTICAL PUMPS EVMS

SELECTION CHART 50 Hz

EVMS 10-15-20

Maximum Q=Capacity
Pump Type Motor working |l/min 0| 75 100 130 150 180 200 250 300 350 | 400 | 450 | 480
KW | HP | Size | pressure | m¥h o‘ 45 ‘ 6.0 } 7.8 } 9.0 } 108 | 12.0| 150 | 18.0 ‘ 21.0 ‘ 24.0 ‘ 27.0 ‘ 288
Single phase Three phase (MPa) H=Total manometric head in meters
EVMS10 2/0.75M EVMS10 2/0.75 075 1 80 21.8 21.2 20.8 19.7 18.7 16.6 | 14.9 9.8 - - - - -
EVMS10 3/1.5M EVMS10 3/1.5 1.5 2 920 S 32.7 31.8 31.2 29.6 28.0 249 | 224 | 147 - - - - -
EVMS10 4/2.2M EVMS10 4/2.2 2.2 3 90 L 43.6 424 4.7 39.5 37.3 33.2 29.8 19.6
EVMS10 5/2.2M EVMS10 5/2.2 2.2 3 90 L 54.5 53 52 49.3 46.7 41.5 37.3 24.6
EVMS10 6/2.2M EVMS10 6/2.2 2.2 3 0L 65.5 63.5 62.5 59 56 50 45 29.5 - - - - -
- EVMS10 7/3.0 3.0 4 100 L 76.5 74 73 69 65.5 58 52 34.4 - - - - -
- EVMS10 8/3.0 3.0 4 100 L 1.6 87.0 84.5 83.5 79 74.5 66.5 | 59.5 | 39.3 - - - - -
EVMS10 9/4.0 40| 55 | 112M 98 95.5 93.5 89 84 74.5 67 44
- EVMS10 10/4.0 40| 55| 112M 109 106 104 98.5 93.5 83 74.5 49 - - - - -
10 - EVMS10 11/4.0 40| 55| 112M 120 116 115 109 103 91.5 82 54 - - - - -
EVMS10 12/5.5 55| 75| 1328 131 127 125 118 112 99.5 89.5 59
- EVMS10 14/5.5 55| 75| 1328 153 148 146 138 131 116 104 68.5 - - - - -
- EVMS10 15/5.5 55| 75| 1328 163 159 156 148 140 124 112 73.5 - - - - -
- EVMS10 16/7.5 7.5 10 132 S 174 169 167 158 149 133 119 78.5
- EVMS10 18/7.5 75| 10 | 1328 196 191 187 178 168 149 134 | 88.5 - - - - -
- EVMS10 19/7.5 7.5 10 132 S 25 207 201 198 188 177 158 142 93.5 - - - - -
- EVMS10 21/7.5 75| 10 | 1328 229 222 219 207 196 174 157 103 - - - - -
EVMS10 22/11 11 15 160 M 240 233 229 217 205 183 164 108
- EVMS10 23/11 11 15 160 M 251 244 240 227 215 191 172 113 - - -
EVMS15 1/1.1M EVMS15 1/1.1 1.1 1.5 80 14.9 - - 13.3 13 12.4 12.1 10.8 9.5 7.5 4.8 - -
EVMS15 2/2.2M EVMS15 2/2.2 2.2 3 90 L 29.5 - - 27.5 2741 26 26.1 | 249 23.1 | 204 | 16.8 - -
- EVMS15 3/3.0 3.0 4 100 L 44.5 - - 41.5 40.5 39.7 | 39.1| 373 34.7 | 306 | 25.2 - -
- EVMS15 4/4.0 40 | 55 | 112M 59 - - 55 54.5 53 52 50 46.5 a1 33.6 - -
- EVMS15 5/5.5 551 75| 1328 73.5 - - 69 68 66 65 62 58 51 42 - -
- EVMS15 6/5.5 55| 75| 132S 1.6 88.5 - - 82.5 81.5 79.5 78 74.5 69.5 61 50.5 - -
- EVMS157/7.5 7.5 10 132 S 103 - - 96.5 95.0 92.5 91 87 81 715 | 58.5 - -
15 - EVMS15 8/7.5 75| 10 | 1328 118 - - 110 109 106 104 | 99.5 92.5 | 815 67 - -
EVMS15 9/11 11 15 160 M 133 - - 124 122 119 117 112 104 92 75.5
- EVMS15 10/11 11 15 | 160 M 147 - - 138 136 132 130 124 116 102 84 - -
- EVMS15 11/11 11 15 | 160 M 162 - - 151 149 146 143 137 127 112 | 92.5 - -
- EVMS15 12/11 11 15 160 M 177 165 163 159 156 149 139 122 101
- EVMS15 13/11 1 15 | 160 M 25 191 - - 179 176 172 169 162 150 133 109 - -
- EVMS15 15/15 15 20 | 160 M 221 - - 206 203 199 195 187 174 153 126 - -
- EVMS15 17/15 15 20 | 160 M 250 - - 234 231 225 221 211 197 173 143 - -
EVMS20 1/1.5M EVMS20 1/1.5 1.5 2 90 S 17.2 - - - - 14.3 13.9 12.8 11.3 9.6 7.3 4.3 2.4
- EVMS20 2/3.0 3.0 4 100 L 33.7 - - - - 30.4 | 29.9 | 28.9 27.7 | 26.2 | 23.6 | 19.9 | 174
- EVMS20 3/4.0 40 | 55| 112M 50.5 - - - - 46 45 43.4 41.6 | 39.2 | 355 | 29.9 | 26.2
- EVMS20 4/5.5 55| 75| 1328 67.4 - - - - 61 60 58 55.4 | 52.3 | 47.3 | 39.8 | 349
- EVMS20 5/7.5 7.5 10 132 S 1.6 84.2 - - - - 76.0 75 72.3 69.3 | 654 59 49.8 | 43.6
- EVMS20 6/7.5 75| 10 | 1328 101 - - - - 91.2 90 87 83.1 | 785 7 59.7 | 52.3
EVMS20 7/11 11 15 160 M 118 - - - - 106 105 101 97 915 | 827 70 61.1
20 - EVMS20 8/11 1" 15 | 160 M 135 - - - - 122 120 116 111 105 95 80 70
- EVMS20 9/11 11 15 160 M 152 - - - - 137 135 130 125 118 106 89.6 79
- EVMS20 10/11 11 15 | 160 M 168 - - - - 152 150 145 139 131 118 100 87
EVMS20 11/15 15 20 | 160 M 185 - - - - 167 165 159 152 144 130 110 96
- EVMS20 12/15 15 20 | 160 M 202 - - - - 182 179 173 166 157 142 119 105
- EVMS20 13/15 15 | 20 | 160 M 2.5 219 - - - - 198 194 188 180 170 | 154 | 129 | 113
EVMS20 14/18.5 18.5] 25 160 L 236 213 209 202 194 183 166 139 122
EVMS20 15/18.5 18.5| 25 160 L 253 - - - - 228 224 217 208 196 177 149 131
EVMS20 16/18.5 18.5| 25 160 L 270 - - - - 243 239 231 222 209 189 159 140

1.6 MPa=16 bar ; 2.5 MPa=25 bar

107
E2ARA EPA




EVMS

VERTICAL PUMPS

50 Hz

PERFORMANCE CURVE

2

U.S.g.p.m.

0

1"

I— 800

H
i

- 700

— 600

I— 500

- 400

- 300
— 200
100

Rant RS

-

~—

Imp.g.p.m.

1T

A L I A U L U ]

1 N1 T T T T T [T

Il | [ N Y T Lot bl
=) — = =] =1 [= (=)
& E & e g 8

[MPg]

2.0

1.0

0_

I
w2
=

Q [V/min]

45

40

15 20 25

10

]
Q[m/h]

28

26

24

22

20

18

16

14

12

1.0

0.8

06

04

0.2

60

%l

40

20

NPSH

il

-2

—10

Q [l/min]

45

40

35

SINGLE IMPELLER kW

30

25

20

15

—
\\

"
o
—

10

012

P2

[kw] 0.08

0u

0.00

NPSH ©

[m]

15 20 25 30 35 40 45 Q [l/min]

10

200

Rotation speed 82900 min™
Test standard: ISO 9906:2012 - Grade 3B

EPA



VERTICAL PUMPS

EVMS

TECHNICAL DATA

50 Hz

Dimensions [mm] and Weights [Kg]

EVMS1 Dimensional sketch

DIN

c

H3

& @

H2

>

v |

Nimi

:
W&

Round flange (F) - DN25

— i l-(‘_)
I il ] % s
(e
100 16
149
250

4 holes 214

4 holes 212 ‘ ‘

210

Note: Dimensions H3, C & B may vary depending on motor type fitted. Dimensions refer to
Ebara factory motors (European) not generally fitted in Australia. Example only.

Motor
Pmax ; 1~ 3~ Weight Welght

Pump Type (pa) kW  Size A H2 Pur?lp Pump + Motor

B C H3| B C H3 1~ 3~
EVMS1 2/0.37 1.6 0.37 7 2105]139 133 216|139 114 216| 275 10.4 17.5 16.2
EVMS1 3/0.37 1.6 0.37 al ©105] 139 133 216|139 114 216| 296 10.9 18 16.7
EVMS1 4/0.37 1.6 0.37 7 0105] 139 133 216|139 114 216| 317 1.3 18.4 171
EVMS1 5/0.37 1.6 0.37 al ©105] 139 133 216|139 114 216| 338 11.8 18.9 17.6
EVMS1 6/0.37 1.6 0.37 7 ©105] 139 133 216|139 114 216| 359 12.2 19.3 18
EVMS1 7/0.37 1.6 0.37 7 2105] 139 133 216|139 114 216| 380 12.6 19.7 18.4
EVMS1 8/0.37 1.6 0.37 al ©105] 139 133 216|139 114 216| 401 13.1 20.2 18.9
EVMS1 9/0.55 1.6 0.55 7 0105] 139 133 216|139 114 216| 422 13.5 22 19.7
EVMS1 10/0.55 1.6 0.55 al ©105] 139 133 216|139 114 216| 443 13.9 22.4 20.1
EVMS1 11/0.55 1.6 0.55 7 0105] 139 133 216|139 114 216| 464 14.4 22.9 20.6
EVMS1 12/0.55 1.6 0.55 7 ©105] 139 133 216|139 114 216| 485 15.1 23.6 21.3
EVMS1 13/0.55 1.6 0.55 7 0105] 139 133 216|139 114 216| 506 15.7 24.2 21.9
EVMS1 14/0.75 1.6 0.75 80 0120|160 151 232|160 139 232| 537 16.4 27.8 25.9
EVMS1 16/0.75 1.6 0.75 80 0120|160 151 232|160 139 232| 579 17.4 28.8 26.9
EVMS1 18/1.1 1.6 11 80 0120|160 151 232]160 139 232| 621 18.5 30.3 29.6
EVMS1 20/1.1 1.6 1.1 80 0120|160 151 232|160 139 232| 663 19.5 31.3 30.6
EVMS1 22/1.1 1.6 11 80 0120|160 151 232]160 139 232| 705 20.7 32.5 31.8
EVMS1 24/1.1 1.6 1.1 80 0120|160 151 232|160 139 232| 747 21.7 33.5 32.8
EVMS1 26/1.1 1.6 11 80 0120|160 151 232|160 139 232| 789 22.7 34.5 33.8
EVMS1 27/1.5 25 1.5 90S |o140| 172 140 278|180 148 267| 820 23.1 40.9 35.8
EVMS1 29/1.5 25 1.5 90S |o140| 172 140 278|180 148 267| 862 241 41.9 36.8
EVMS1 32/1.5 25 1.5 90S | 0140|172 140 278|180 148 267| 925 25.4 43.2 38.1
EVMS1 34/1.5 25 1.5 90S |o140| 172 140 278|180 148 267| 967 26.3 441 39
EVMS1 37/2.2 25 2.2 9L |o140|172 140 278|180 148 2671030 27.7 47.2 43.7
EVMS1 39/2.2 2.5 2.2 9L |o140|172 140 278|180 148 267]1072 28.7 48.2 44.7

1.6 MPa=16 bar ; 2.5 MPa=25 bar

201

E2ARA

EPA



VERTICAL PUMPS EVMS

SECTIONAL VIEW 50 Hz
EVMS1
140
128-6
1356
120-6
y P
TR J /| \\
= 212
‘ . 75
1114
P 120-13
T @/ 111-3
O
i 1155
: 1115
111
& 46
Y
'\\\s 5-4
’ 4 /\‘\\ 7
433 I';% %\:\\ 52
‘ A
521 — \((%!I 53
441 ’A,;/&'I' | 1 3
437 — <% | R 2
oY V/?’ 5-1
1M 107
| ] 2731
75-1
- 2121
160
[
D
202
B E3ARA EPA



VERTICAL PUMPS

EVMS

SECTIONAL TABLE

50 Hz

EVMS1
N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMS
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing EN 1.4301 (AISI 304)
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-7 Spacer EN 1.4301 (AISI 304)

441 Shaft sleeve bearing

Tungsten carbide

107 Liner ring

45 Flange holder EN 1.4301 (AISI 304)

46 Ring (mechanical seal) EN 1.4404 (AISI 316L)

47 Ring Holder EN 1.4301 (AISI 304)

48 Impeller nut A2-70 UNI 73283 with inox insert M8

52-1 Bearing Tungsten carbide

75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM

EN 1.4301 (AISI 304) + PPS

111 Mechanical Seal
111-3  |Mechanical seal seat

SiC/Carbon/EPDM
EN 1.4301 (AISI 304)

111-4  |Seal holder
111-5 |Mechanical seal cartridge

EN 1.4301 (AISI 304)
EN 1.4301 (AISI 304)

115-1 O-Ring (outer casing) EPDM D. 129.54x5.34 OR 6510
115-3 |O-Ring EPDM

115-4  |O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115
115-5 |O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131

245 Coupling guard
273-1 Plug Washer

120-1 Tie-rod Galvanized steel 6.8 strength class ISO 898/1 M10
120-3 Screw A2-70 UNI 7323 M4x10 ISO 4762
120-6  |Screw for coupling Galvanized steel M6x25 ISO 4762
120-11 |Screw for counterflange A2-70 UNI 7323
120-13 |Screw for motor MEC 71-80 Galvanized steel 8.8 strength class ISO 898/1 MEx20 IS0 4017

MEC 90 M8x20 I1SO 4017
128-1 Nut for tie rod Galvanized steel M10 UNI 5588
128-5  |Nut for tie rod A2-70 UNI 7323 M10 UNI 7474
128-6  |Nut for coupling Galvanized steel M6 ISO 4032
130-1  |Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2  |Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D. 4x32 UNI 4838
135-1 Washer Galvanized steel D. 10.5x21x2 UNI 6592
135-6 |Washer Carbon Steel a6
137-1 Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast aluminium EN AB-AISI11Cu2 (Fe)
160 Base Die cast aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1 Plug EN 1.4301 (AISI 304) G 3/8
212-2  [Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304)

(

EN 1.4301 (AISI 304)
EN 1.4301 (AISI 304)

615 Flange

Nodular Cast Iron

203

E2ARA

EPA



EVMS

VERTICAL PUMPS

50 Hz

QUANTITY FOR MODEL

EVMS1

N°

115-5

115-4

115-1

111-3] 111-4 [ 1115

107 111

2731

245

212-2

N°

47148 52-175| 75-1

46

17
19
21

20

22
26
30
34
38
42

46

48

52

58
62
68
72

]
]
]
]
]
]
]
]
]
]
]
]
]
]
]
]
]

1110
1111
1112
1113
1114
1116
1118
1120
1122
1124
1126
1127
1129
1132
1134
1137
1139

]
]
]
]
]
]
]
]
]
]
]
]
]
]
]
]
]

]
]
]
]
]
]
]
]
]
]
]
]
]
]
]
]
]

10
10

13
15
17
19
21

23

24

26
29
31

34
36

120-13{128-1{128-5;128-6| 130-1| 130-2| 131-1|135-1|135-6| 137-1| 140 160} 162{212| 212-1

120-6

120-3

1201

415-115-2|5-3/54|6|7|21|31| 32-1| 43-2} 43-3| 43-5| 43-7| 441

;
]
]
]
]
]

Pump Type

EVMS1 2/0.37

EVMS1 3/0.37

EVMS1 4/0.37

EVMS1 5/0.37

EVMS1 6/0.37

EVMS1 7/0.37

EVMS1 8/0.37

EVMS1 9/0.55

EVMS1 10/0.55

EVMS1 11/0.55

EVMS1 12/0.55

EVMS1 13/0.55

EVMS1 14/0.75

EVMS1 16/0.75

EVMS1 18/1.1

EVMS1 20/1.1

EVMS1 22/1.1

EVMS1 24/1.1

EVMS1 26/1.1

EVMS1 27/1.5

EVMS1 29/1.5

EVMS1 32/1.5

EVMS1 34/1.5

EVMS1 37/2.2

EVMS1 39/2.2

Pump Type

EVMS1 2/0.37

EVMS1 3/0.37

EVMS1 4/0.37

EVMS1 5/0.37

EVMS1 6/0.37

EVMS1 7/0.37

EVMS1 8/0.37

EVMS1 9/0.55

EVMS1 10/0.55

EVMS1 11/0.55

EVMS1 12/0.55

EVMS1 13/0.55

EVMS1 14/0.75

EVMS1 16/0.75

EVMS1 18/1.1

EVMS1 20/1.1

EVMS1 22/1.1

EVMS1 24/1 1

EVMS1 26/1.1

EVMS1 27/1.5

EVMS1 29/1.5

EVMS1 32/1.5

EVMS1 34/1.5

EVMS1 37/2.2

EVMS1 39/2.2

204

EPA



VERTICAL PUMPS EVMS

PERFORMANCE CURVE 50 Hz
EVMS3
0 USgpm. 4 6 8 10 12 14 16 18 20 2
| | | | | | | | | | | |
| T T T T | T T T T
0 Impgpm. 4 B 8 10 12 14 16 18
280
- 900
p H
[MPa] [m] H
|
24 -
240 — | | 800
| |
\ |
. - 700
27 e — o
| |
\ |
2 W - 600
T 242.2kW |
187 180 —
[~ —21/2.2kW _ - 500
—
12 1= L 400
120 =—16/1.5kw —_
— —14/1.5kW —
= —12/1.1kW — | - 300
0.8 80 ———
— —10/1.1kW —_
— —8/0.75kW —— - - 200
04 40 = —6/0-55KW — -
——4/0.37kW—= 100
0- 0 0
0 10 2 30 4 50 60 70 80 Q|[/min]
| T T T T T T T T T T 3
0.0 05 10 15 20 25 30 35 40 45 50  Q[mh
0.1 ‘ 70
P2 n% N
kW] 012 — 50 [%]
//
/
—]
008 — 30
"
SINGLE IMPELLER kW
004 I | I 10
0 10 20 30 40 50 60 70 80 Q [Vimin]
NPSH 4 NPSH
] 0 m
2
-5
0 0
0 10 20 30 40 50 60 70 80 Q [Vimin]

Rotation speed 2900 min™
Test standard: ISO 9906:2012 - Grade 3B 205

B EBARA EPA




VERTICAL PUMPS EVMS

TECHNICAL DATA 50 Hz
EVMS3 Dimensional sketch

DIN Round flange (F) - DN25

,L_‘
B
o
T o
<
,@ \ [IHil /
A W{ j“! G3/8
g 4 holes 714
S G3/8
=
100 16 4 holes 212 ‘ &
149
250 210

Note: Dimensions H3, C & B may vary depending on motor type fitted. Dimensions refer to
Ebara factory motors (European) not generally fitted in Australia. Example only.

Dimensions [mm] and Weights [Kg]

Motor
Pmax ; 1~ 3~ Weight Weight

Pump Type (pa) kW  Size A H2 Purﬂp Pump + Motor

B C H3| B C H3 1~ 3~
EVMS3 2/0.37 1.6 0.37 71 2105]139 133 216|139 114 216| 275 10.5 17.6 16.3
EVMS3 3/0.37 1.6 0.37 7 0105] 139 133 216|139 114 216| 296 10.9 18 16.7
EVMS3 4/0.37 1.6 0.37 71 0105|139 133 216|139 114 216| 317 1.3 18.4 174
EVMS3 5/0.55 1.6 0.55 al 0105|139 133 216|139 114 216| 338 11.8 20.3 18
EVMS3 6/0.55 1.6 0.55 al 2105|139 133 216|139 114 216| 359 12.2 20.7 18.4
EVMS3 7/0.75 1.6 0.75 80 0120|160 151 232|160 139 232| 390 13.1 24.5 22.6
EVMS3 8/0.75 1.6 0.75 80 0120|160 151 232|160 139 232| 411 13.6 25 23.1
EVMS3 9/1.1 1.6 11 80 0120|160 151 232|160 139 232| 432 14 25.8 25.1
EVMS3 10/1.1 1.6 11 80 0120|160 151 232|160 139 232| 453 145 26.3 25.6
EVMS3 11/1.1 1.6 1.1 80 2120|160 151 232|160 139 232| 474 14.9 26.7 26
EVMS3 12/1.1 1.6 11 80 0120|160 151 232|160 139 232| 495 15.4 27.2 26.5
EVMS3 13/1.5 1.6 1.5 90S |e140| 172 140 278|180 148 267| 526 16.1 33.9 28.8
EVMS3 14/1.5 1.6 15 90S | 0140|172 140 278|180 148 267 | 547 16.5 34.3 29.2
EVMS3 15/1.5 1.6 1.5 90S |o140| 172 140 278|180 148 267| 568 17 34.8 30
EVMS3 16/1.5 1.6 15 90S | 0140|172 140 278|180 148 267| 589 18 35.8 31
EVMS3 17/2.2 1.6 22 9L |e140|172 140 278|180 148 267| 610 18.5 38 34.5
EVMS3 19/2.2 1.6 22 9L |o140|172 140 278|180 148 267 652 19.5 39 35.5
EVMS3 21/2.2 1.6 22 90L |e140|172 140 278|180 148 267| 694 20.4 39.9 36.4
EVMS3 23/2.2 25 2.2 9L |o140|172 140 278|180 148 267 736 21.4 40.9 37.4
EVMS3 24/2.2 25 22 90L |e140|172 140 278|180 148 267| 757 21.8 41.3 37.8
EVMS3 25/3.0 25 3.0 100L | o160 | - - - | 196 155 306| 788 22.4 - 45.2
EVMS3 27/3.0 25 3.0 100L | o160 | - - - | 196 155 306| 830 23.4 - 46.2
EVMS3 29/3.0 25 3.0 100L |o160| - - - | 196 155 306| 872 24.3 - 471
EVMS3 31/3.0 25 3.0 100L | o160 | - - - | 196 155 306| 914 25.3 - 481
EVMS3 33/3.0 2.5 3.0 100L | 0160 | - - - | 196 155 306| 956 26.1 - 48.9

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model 206

B E3ARA EPA




VERTICAL PUMPS

EVMS

SECTIONAL VIEW

50 Hz

EVMS3

140
1286
1356

120-6
g

43-3
52-1
441
43-7

5-1
1 107

—=7 T\
\

2731

75-1

212-1
160

- 128-5
<L

207

EPA



VERTICAL PUMPS

EVMS

SECTIONAL TABLE

50 Hz

EVMS3

N° PART NAME MATERIAL DIMENSIONS | STANDARD

4 Casing cover EN 1.4301 (AISI 304)

5-1 Suction casing EN 1.4301 (AISI 304)

5-2 Intermediate Casing EN 1.4301 (AISI 304)

5-3 Intermediate casing bearing EN 1.4301 (AISI 304)

5-4 Discharge casing EN 1.4301 (AISI 304)

6 Bottom casing EN 1.4301 (AISI 304)

7 Outer casing EN 1.4301 (AISI 304)

21 Impeller EN 1.4301 (AISI 304)

31 Shaft EN 1.4301 (AISI 304)

32-1 Adjuster Key EN 1.4301 (AISI 304)

43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)

43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)

43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)

43-7 Spacer EN 1.4301 (AISI 304)

44-1 Shaft sleeve bearing Tungsten carbide

45 Flange holder EN 1.4301 (AISI 304)

46 Ring (mechanical seal) EN 1.4404 (AISI 316L)

47 Ring Holder EN 1.4301 (AISI 304)

48 Impeller nut A2-70 UNI 7323 with inox insert M8

52-1 Bearing Tungsten carbide

75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050

75-1 O-Ring (plug) EPDM

107 Liner ring EN 1.4301 (AISI 304) + PPS

111 Mechanical Seal SiC/Carbon/EPDM

111-3  [Mechanical seal seat EN 1.4301 (AISI 304)

111-4  |Seal holder EN 1.4301 (AISI 304)

111-5 Mechanical seal cartridge EN 1.4301 (AISI 304)

115-1  |O-Ring (outer casing) EPDM D. 129.54x5.34| OR 6510

115-3 |O-Ring EPDM

115-4  |O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115

115-5 |O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131

120-1 Tie-rod Galvanized steel 6.8 strength class ISO 898/1 M10

120-3  [Screw A2-70 UNI 7323 M4x10 ISO 4762

120-6  [Screw for coupling Galvanized steel M6x25 I1SO 4762

120-11 |Screw for counterflange A2-70 UNI 7323

120-13 |Screw for motor MEC 71-80 Galvanized steel 8.8 strength class ISO 898/1 MEx20 ISO 4017
MEC 90-100 M8x20 I1SO 4017

128-1 Nut for tie rod Galvanized steel M10 UNI 5588

128-5 |Nut for tie rod A2-70 UNI 7323 M10 UNI 7474

128-6  [Nut for coupling Galvanized steel M6 I1SO 4032

130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923

130-2 |Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

131-1 Pin for shaft Carbon Steel D. 4x32 UNI 4838

135-1  |Washer Galvanized steel D. 10.5x21x2 UNI 6592

135-6 |Washer Carbon Steel a6

137-1 Impeller spacer EN 1.4301 (AISI 304)

140 Coupling up to 4.0 kW Die cast aluminium EN AB-AISI11Cu2 (Fe)

160 Base Die cast aluminium EN AB-AISI11Cu2 (Fe)

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304) G 3/8

212-1  |Plug EN 1.4301 (AISI 304) G 3/8

212-2  |Venting plug EN 1.4404 (AISI 316L)

219 Counter flange EN 1.4301 (AISI 304)

245 Coupling guard EN 1.4301 (AISI 304)

273-1  |Plug Washer EN 1.4301 (AISI 304)

615 Flange Nodular Cast Iron

208

E2ARA

EPA



EVMS

VERTICAL PUMPS

50 Hz

QUANTITY FOR MODEL

EVMS3

Y
[T R R B B B B B e B B Bl Rl B B B B B ol B B B B Rl B
s :
n2222222222222222222222222
Y
¥
Tl R R e R B B R B e B B e R R e B e Rl e R B Rl e B
0
M2222222222222222222222222
4E,N2222222222222222222222222
- o
) L R e B e B B e B R B R e B e e B e Rl e R B Rl e R
J e e e T e e e e e 3V
sy
-
¥ (SN SV KGR K VIR QU KV FSUR KN KU VI KV VIS KGN FVIE RoUR K VIR FSU KV ¥V KQVAN KV KoV KoV KSUR KV KoV
Rl el Rl Rl B B B B e B B B el R B B B R el B B B el Rl B -
- N
]
) P R Rl Ll Rl Ll Bl Ll Rl Rl Rl Ll Rl Rl Rl Rl Rl Rl Rl Rl Rl Ral Rall Rl Rl R
o el L L R e e e e B B o e e e e R e N
= o
L T R e B R B B R B e Bl Eall Rl Rl B B B e Rl e B B Rl e B A
= —
D e Rl Eal Bl Rl e B e B B Bl Rl Rl B B B R el R B B Rl Rl R =)
b Ll B e e e R B e B R B R R B e e B e Rl e R B Rl Rl B A
5 o R R R ) ot |v|~|o ™ Z
S | oo oo o | 2T T 22 2N ™ =)
- Rl R e R e R Ao ESUR ESUR £9VI RS KoV oVl NoViR NSUR HoVl NN HoVAN QN KoVl ROV oVl KU ESUR KoV KSNIN KoVl RoUN oVl NoVi KoVl KoV
3
R,-v2222222222222222222222222 -
™~ N Rl Rl El e B B B B B B R B B e R e Rl Rl B R R Eall Rl h i
7y ®
[ e e e e Ll Rl L e R R R R R R el e e Rl R e B R R R B ~
— @
ISE Rl Rl Rl Bl ol Rl Bl Bl Bl B Rl SV TV KOV VIR KoV ESVAR YoV SV KoVl FSVR KOV ESVA KVR HS EANEAREAAREAA N AERENANIARREAAREA AR AN A RE N AR A R A b
w -
e R R e R R R ol e R R R el Bl R R e R Bl R R Rl Rl e e B —
.
R A AR A A A A R A R A R s
- e e e e e B B R Bl B B e e e L R R Rl R Bl e Rl el B B .2
4 NJI
@ v fou o o fou v eu feu feu o feu v fou e e o fou feu ] ou |eu feu feu o o e b= Al Al Al el Al Rl Al Al Al Sl Al Al Al Rl Al Al Rl Sl Rl Al Al Rl Rl Al A
o
Q
- Q|| || [l [ | | [ e
M...1111111111122222222222222 «
S i
ﬂv N P P I PR PO P N R [ R U DU U DU DR DU DU DU DU PR D P P w3333333333333333333333333
O ©
-2 B A A A ettt A e A A %4444444444444444444444444
= -
-3 R Rl Sl Rl Aol Rl £l Rl ol Rl Bl VR £Vl KQVA KoV KoVl KoVl £ oVl KQVR KoVl KoVl KoVl KQVR KSR KV Lol
~ SRR AR AR AR AR AR R E AL AR R A R A R R R
YMdolollol=lolo|~ ol lola|x oo lalolo|afs|o|a|olo hal
) Rl ot Rl R Bl PV Rt £V KSR E VR R R R R B B R ol S S Rrol Frol ko) =
= SRR AR AR AR AR AR R S L AR R A R A R R R
P el Rl R B B R el R B B B el Rl B B B R el B B B e Rl R B —
]
™
bl e e B B Ll R P e B B B e R R Ll Lol o Ll o B R B e R -
© <ISEEENAS AN AR AR AN AR AN AR AN AR AS AN AR AR AR AR A NS
«
ol-|n ot |wloi~|o olg|wl~|o|= |0 -
I R ol L Ll ol Eonl R U L R g ety Ry Ly 2 vl Rl PR S I SR RN ]
[ e e B B B B B B B B B el R B B B R el R B B el Rl B B ©
IASASENANANASENANANASANARANASANASESANA SN A NESA AN
O |~fjr-|r=|~fl=i=i=|~|=|~|= |||~~~ |~ ||~~~ |~ o
<
T Rl B B e R B B B B B o e B B B R B B e Rl Rl Rl R e
= @
:ow1111111111122222222222222 ISEREREAAREAA R AR AANIARRE A A REA AR AN A RE A AR A RE R
Q oo N [ofo o qls|o 0|
> ot ivio~o o212 ITITIRITI2IRIg a8 &8
VS Rl Rl all Aol Aol Al ol Rl all Rl Akl Bull Aull Rkl Aol Rl Al Aall Aol Aall Rl Rl Al Al m4444444444444444444444444
B el B e B B R el R e e e R R B B e R B R e B B R B
g
2 S I T R TR [T B JTol 1) ~|=|=lujlu vnlalalalaia|o|olololo
> BB INILIgiviw TR e e AN N O O 1010 1O L Sl DR LRl Lol Ll Lol Al Rl Bl Pl Rl hol Rl Ll R B N A R L R R R R R R R
U D DI D ey (ot e e Ml ol Bl ol el el Rl Bl IS N E [ ECR (g (R g el o a [elelelg|glelg|Zls|=|ala|3|vle|s|o|s|alg|o|s o= ]e
a |QIQIQIQIQICI9 I |S |- |d G|F|B|dN|ois|a|Flo|[slo|=|0 € |dlal¥vlo|R|d|a|- ||+~ |-l |a]|alafaala oo
£ [SURTRAS R TN (7R D R R ROl Bl Bl Bl B Sl Bl e Bl Bl TVl ESVA KoV KSUN RoVR EQVR Ko R Koo S olololinlolololololololololiolnlolololololololo ole
¢ |2(208[2(2/2(2(23[2(2208[2(2 22 222 2 22 22| | ¢ |ZIZE|ZI2IE1E LB 2 Z |21 |22 e gL e g
Siz|ZlZziIZIZIZ|IZ|IZ|Z|IZIZIZIZIZIZIZIZIZIZ|IZ|IZIZIZ|= e P P e D B D e D e P e o e P D P Pl P D e e e e
P P P B D e D e P P P e o B P e Pl Dl e D e e e e L N N N TN N TN N o N T N TN N AN N N VA A AN JUR g Sup )
0 0o fio oo o 0o Do ) oo (o o 0o 0o oo f oo o o Do) Do f i fi o i

209

EPA



EVMS

VERTICAL PUMPS
PERFORMANCE CURVE 50 Hz
EVMS5
0 USgpm. 5 10 15 20 25 35
| | | | | | |
| T T T T T
0 Impg.p.m. 5 10 15 20 30
280
- 900
p H |
MPe] im] ook H
_ | [f]
24 ™ | 800
[
BERe
700
207 o
L 20/4.0kW —|
] I B ~ — 600
n
L TN =
1 1 - 500
L —15/3.0kW — I
b.ok] —
I I
12 — — —13/3.0kW —- ___ L 400
120 = —
112260 |
- - 300
05 g T TYREW— L — _%_
777 A S
I | — 200
- ——5/1:.skv:v— ————
04 401= 4075k = ——
— 3085k — — 100
| T
0 0 [ | 0
0 20 40 80 80 100 120 Q [Vmin]
| T T T T T T T,
0 1 2 3 4 5 8 Q[mh]
032 70
P2 - n
KW 02 — n% 50 (%]
018 — 30
|
— SINGLE IMPELLER kW
008 | I [ 1| I | 10
0 20 40 80 80 100 120 Q [Umin]
NPSH 5 45 NPSH
[m] [ft]
3 10
-5
1
0 20 40 80 80 100 120 Q Vmin]
Rotation speed 82900 min™
Test standard: ISO 9906:2012 - Grade 3B 210
B E3ARA EPA



VERTICAL PUMPS

EVMS

TECHNICAL DATA

50 Hz

c

DIN
T

o
I o
<
|
AT
Hlf\jr %\\
= a
(]
I

<o e
— Sy

Dimensions [mm] and Weights [Kg]

=l Tl <
e |
A i i B
100 19
149
250

2140

EVMS5 Dimensional sketch
Round flange (F) - DN32

4 holes 218

=

4 holes @12 ‘ |

Note: Dimensions H3, C & B may vary depending on motor type fitted. Dimensions refer to

Ebara factory motors (European) not generally fitted in Australia. Example only.

Motor
Pmax " 1~ 3~ Weight Weight

Pump Type [MPa] kw  Size A H2 Pur?-np Pump + Motor

B C H3| B C H3 1~ 3~
EVMS5 2/0.37 76 | 037 | 71 |o105| 139 133 216|139 114 216| 289 B 81 168
EVMS5 3/0.55 1.6 | 055 | 71 |ot05| 139 133 216|139 114 216| 317 | 115 20 17.7
EVMSS5 4/0.75 16 | 075 | 80 |ot20| 160 151 232|160 139 232| 355 | 125 | 239 22
EVMS5 5/1.1 16 | 11| 80 |ot20| 160 151 232|160 139 232| 383 | 13 248 241
EVMSS5 6/1.5 1.6 15 90S | @140] 172 140 278|180 148 267| 421 13.7 315 26.4
EVMS5 7/1.5 1.6 15 90S | 9140| 172 140 278| 180 148 267| 449 141 31.9 26.8
EVMSS5 8/2.2 1.6 2.2 90L | @140] 172 140 278 180 148 267| 477 14.6 34.1 30.6
EVMS5 9/2.2 1.6 2.2 90L | o140] 172 140 278] 180 148 267| 505 15.2 34.7 31.2
EVMS5 10/2.2 1.6 2.2 9L | e140] 172 140 278|180 148 267| 533 15.6 35.1 31.6
EVMS5 11/2.2 1.6 2.2 90L | o140] 172 140 278] 180 148 267| 561 16.5 36 325
EVMS5 12/3.0 1.6 3.0 100L | 2160 196 155 306| 599 17.7 40.5
EVMS5 13/3.0 1.6 3.0 100L | 2160 - | 196 155 306| 627 18.3 411
EVMS5 14/3.0 1.6 3.0 100L | 2160 196 155 306| 655 18.8 41.6
EVMS5 15/3.0 1.6 3.0 100L | #160] - - 1196 155 306| 683 19.9 42.7
EVMS5 17/4.0 1.6 4.0 112M| o160 196 155 306| 739 20.6 471
EVMS5 19/4.0 25 4.0 112M| @160 196 155 306| 795 21.7 48.2
EVMSS5 20/4.0 25 4.0 112M| o160 - 1196 155 306| 823 23.9 50.4
EVMSS5 23/5.5 25 5.5 132 S| 2300 225 160 328| 1001 30.6 69.2
EVMSS5 25/5.5 25 5.5 132 S| 2300 225 160 328| 1057 31.6 70.2
EVMSS5 27/5.5 2.5 5.5 132 S| 2300 225 160 328] 1113 33.1 71.7

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

211

E2ARA

EPA



VERTICAL PUMPS EVMS

SECTIONAL VIEW 50 Hz
EVMS5

140
1286
1356

120-6
g

433
52-1
441
43-7

5-1
1 107

—=7 T\
\

2731

75-1

212-1
160

- 128-5
9

212

B E3ARA EPA




VERTICAL PUMPS

EVMS

SECTIONAL TABLE

50 Hz

EVMS5
N° PART NAME MATERIAL DIMENSIONS | STANDARD
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing EN 1.4301 (AISI 304)
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
EN 1.4301 (AISI 304) -

31 Shaft EN 1.4462 EAISI 329%)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M8
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D.12.37x2.62 | OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-83  |Mechanical seal seat EN 1.4301 (AISI 304)
111-4  [Seal holder EN 1.4301 (AISI 304)
111-5  |Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1  |O-Ring (outer casing) EPDM D. 129.54x5.34| OR 6510
115-3 |O-Ring EPDM
115-4  |O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115
115-5 |O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131
120-1 Tie-rod Galvanized steel 6.8 strength class ISO 898/1 M10
120-3  [Screw A2-70 UNI 7323 M4x10 ISO 4762
120-6  |Screw for coupling Uplo4OKW | Galvanized steel M6x25 ISO 4762

above 5.5 kW M8x20 ISO 4762
120-11 [Screw for counterflange A2-70 UNI 7323

MEC 71-80 M6x20 ISO 4017
120-13 |Screw for motor MEC 90-100-112 Galvanized steel 8.8 strength class ISO 898/1 M8x20 ISO 4017

MEC 132 M12x40 ISO 4017
128-1 Nut for tie rod Galvanized steel M10 UNI 5588
128-3  |Nut (motor) MEC 132 Galvanized steel M12 ISO 4032
128-5  |Nut for tie rod A2-70 UNI 7323 M10 UNI 7474
128-6  [Nut for coupling Galvanized steel M6 ISO 4032
130-1  [Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2  [Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D. 4x32 UNI 4838
135-1 Washer Galvanized steel D. 10.5x21x2 UNI 6592
135-6  [Washer Carbon Steel a6
137-1 Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)

above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
2121 Plug EN 1.4301 (AISI 304) G 3/8
212-2  [Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304)
245 Coupling guard EN 1.4301 (AISI 304)
273-1  |Plug Washer EN 1.4301 (AISI 304)
615 Flange Nodular Cast Iron

213

E2ARA

EPA



EVMS

VERTICAL PUMPS

50 Hz

QUANTITY FOR MODEL

EVMS5

N°

115-5

115-4

115-1

47 148(52-1}75|75-1|107|111}111-3|111-4} 111-5

46

17

21

25

35

1

1

1

T

23
25
27

1111

11118

1{1]15

1(1]20

3
1
1

1

1

1

1
1
1
1

2

2

2

2

10

12

17

20| 2

22| 2

23| 3

1
]
1

415-115-2|5-3|5-4|6|7|21|31***| 32-1|43-2| 43-3| 43-4| 43-5|44-1

1
1

1

1
1

1
1
1

Pump Type

EVMSS5 2/0.37

EVMSS5 3/0.55

EVMSS5 4/0.75
EVMS5 5/1.1

EVMSS5 6/1.5

EVMS5 7/1.5

EVMSS5 8/2.2

EVMS5 9/2.2

EVMS5 10/2.2

EVMSS5 11/2.2

EVMS5 12/3.0

EVMSS5 13/3.0

EVMS5 14/3.0

EVMS5 15/3.0

EVMS5 17/4.0

EVMS5 19/4.0

EVMS5 20/4.0

EVMSS5 23/5.5

EVMSS5 25/5.5

EVMSS5 27/5.5

Ne
120-13|128-1| 128-3 | 128-5| 128-6| 130-1|130-2| 131-1| 135-1| 135-6| 137-1| 140| 160| 162|212 212-1|212-2

273-1

245

120-1|120-3| 120-6

Pump Type

EVMSS5 2/0.37

EVMS5 3/0.55

EVMS5 4/0.75
EVMS5 5/1.1

EVMSS5 6/1.5

EVMS5 7/1.5

EVMSS5 8/2.2

EVMS5 9/2.2

EVMS5 10/2.2

EVMS5 11/2.2

EVMS5 12/3.0

EVMS5 13/3.0

EVMSS5 14/3.0

EVMS5 15/3.0

EVMS5 17/4.0

EVMS5 19/4.0

EVMS5 20/4.0

EVMSS5 23/5.5

EVMSS5 25/5.5

EVMSS5 27/5.5

++ [ shaftin EN 1.4462 (AISI 329A)
128 -3: only for motor up to 5.5 kW

214

EPA



VERTICAL PUMPS

EVMS

PERFORMANCE CURVE 50 Hz
EVMS10
0 USgpm. 10 20 30 | 50 60 70
| L L : T — | L
0 Impgp.m. 10 20 30 40 50 60
280
- 900
p H
[MPa] m] H
yu Ll L [
24 240 K 800
= —21/7.5kW —|
- - 700
20+ L~
i Sy
- 600
1 I
16 g0 15/‘5.5k\‘N—
= o — 500
]
12 120 11/4.0k\‘N L 400
B
- 300
— —8/3.0kW—
0.8 - 80 | |
| |
— —6/2.2kW —
- - 200
1
04 4 1
— —3/1.5kW— 100
L —2/0.75kW —|
0 0 0
0 40 80 120 160 200 240 Q Uimin]
| T T T T T T T T
0 2 4 6 8 10 12 14 16 Q[mh]
048 80
P2 . n
s—— —
kW] 040 — % —~— 60 [%)
- =
k] — |
" ]
4 SINGLE IMPELLER kW
oM I I 20
0 40 80 120 160 200 240 Q Umin]
NPSH NPSH
[m] — 0 m
2
-5
0 0
0 4 80 120 160 200 240 Q [Uimin]
Rotation speed 82900 min™
Test standard: ISO 9906:2012 - Grade 3B 215
B E3aRA EPA



VERTICAL PUMPS EVMS

TECHNICAL DATA 50 Hz

EVMS10
DIN Round flange (F) - DN40
C
]
%Q;B
O 17 eas
4 ﬁ
{
o } 4 holes 218
T |
1
|
IEEE Sk
130 ‘ 18 4holes!a12‘
190 |
280

Note: Dimensions H3, C & B may vary depending on motor type fitted. Dimensions refer to
Ebara factory motors (European) not generally fitted in Australia. Example only.

Dimensions [mm] and Weights [Kg]

Motor
Pmax ; 1~ 3~ Weight Weight

Pump Type [MPa] kW Size A H2 Pump Pump + Motor

B C H3| B C H3 1~ 3~
EVMS10 2/0.75 1.6 0.75 80 2120 160 151 232|160 139 232| 343 17.5 28.9 27
EVMS10 3/1.5 1.6 1.5 90S | 0140|172 140 278|180 148 267| 383 18.5 36.3 31.2
EVMS10 4/2.2 1.6 2.2 90L | 9140|172 140 278|180 148 267| 413 19.3 38.8 35.3
EVMS10 5/2.2 1.6 2.2 90L | 2140|172 140 278|180 148 267 443 20.1 39.6 36.1
EVMS10 6/2.2 1.6 2.2 90L | 2140|172 140 278|180 148 267| 473 21 40.5 37
EVMS10 7/3.0 1.6 3.0 100L | o160 - - - 1196 155 306| 513 21.9 - 44.7
EVMS10 8/3.0 1.6 3.0 100L | o160 | - - - [196 155 306| 543 22.8 - 45.6
EVMS10 9/4.0 1.6 4.0 112M | o160 - - - | 196 155 306 573 23.6 - 50.1
EVMS10 10/4.0 1.6 4.0 112M | o160 - - - | 196 155 306| 603 245 - 51
EVMS10 11/4.0 1.6 4.0 112M | 0160| - - - | 196 155 306| 633 26.1 - 52.6
EVMS10 12/5.5 1.6 55 132S | @300 - - - 1225 160 328| 761 35.9 - 745
EVMS10 14/5.5 1.6 5.5 132S | 2300 - - - 1225 160 328] 821 37.7 - 76.3
EVMS10 15/5.5 1.6 5.5 132S | 2300 | - - - [225 160 328 851 38.6 - 77.2
EVMS10 16/7.5 25 7.5 132S | 2300| - - - | 225 160 350| 881 39.6 - 80
EVMS10 18/7.5 25 7.5 132S | 2300 | - - - [225 160 350| 941 41.4 - 81.8
EVMS10 19/7.5 25 7.5 132S | @300| - - - 1225 160 350| 971 42.3 - 82.7
EVMS10 21/7.5 25 7.5 132S | 2300 | - - - |225 160 350| 1031 441 - 84.5
EVMS10 22/11 2.5 11 160 M | 2350 - - - 1248 194 476] 1091 46.4 - 108.9
EVMS10 23/11 2.5 11 160 M | 350 - - - 1248 194 476] 1121 53.1 - 115.6

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

216
E2ARA EPA




VERTICAL PUMPS EVMS

SECTIONAL VIEW 50 Hz

EVMS10

120-13
i U
-\ ~——
140
<) 120-6
o 1283
321 <
62— 0 L A\
131-1 | 212
130-2 @ << , 75
130-1 -
108 114
2;5 —~ 113
o ‘ 1155
128-1 ]
v ) 115
11
2122
P 46
AN 47
154 —— | || R 54
115-1 ,
1
1201 ————— N

— T
32— ||| o =

53
433 -

521 L
N 7
N
N
B
137-1 h
— | ZERN
8— T
i —~ 31

Q : 5-1

107

2731

75-1
(&) 2121

T a0
T s

S2
with Round flange (F) 517

B E3ARA EPA




VERTICAL PUMPS

EVMS

SECTIONAL TABLE

50 Hz

EVMS10

N° PART NAME MATERIAL DIMENSIONS | STANDARD

4 Casing cover EN 1.4301 (AISI 304)

5-1 Suction casing EN 1.4301 (AISI 304)

5-2 Intermediate Casing EN 1.4301 (AISI 304)

5-3 Intermediate casing bearing EN 1.4301 (AISI 304)

5-4 Discharge casing EN 1.4301 (AISI 304)

6 Bottom casing EN 1.4301 (AISI 304)

7 Outer casing EN 1.4301 (AISI 304)

21 Impeller EN 1.4301 (AISI 304)

31 Shaft EN 1.4301 (AISI 304)

32-1 Adjuster Key EN 1.4301 (AISI 304)

43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)

43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)

441 Shaft sleeve bearing Tungsten carbide

45 Flange holder EN 1.4301 (AISI 304)

46 Ring (mechanical seal) EN 1.4404 (AISI 316L)

47 Ring Holder EN 1.4301 (AISI 304)

48 Impeller nut A2-70 UNI 7323 with inox insert M10

52-1 Bearing Tungsten carbide

75 0O-Ring (plug) EPDM D. 12.37x2.62 OR 3050

75-1 O-Ring (plug) EPDM

107 Liner ring EN 1.4301 (AISI 304) + PPS

111 Mechanical Seal SiC/Carbon/EPDM

111-8  [Mechanical seal seat EN 1.4301 (AISI 304)

111-4  |Seal holder EN 1.4301 (AISI 304)

111-5  [Mechanical seal cartridge EN 1.4301 (AISI 304)

115-1  |O-Ring (outer casing) EPDM D. 164,46x5,34| OR 6645

115-3  |O-Ring EPDM

115-4  |O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121

115-5 |O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150

120-1  |Tie-rod Galvanized steel 6.8 strength class 1ISO 898/1 M12

120-3  |Screw A2-70 UNI 7323 M5x12 1SO 4762
up to 4.0 kW M6x25 1SO 4762

120-6  [Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel M8x20 1ISO 4762
above 11 kW M10x30 ISO 4762

120-11 |Screw for counterflange A2-70 UNI 7323
MEC 80 M6x20 1SO 4017

120-13 [Screw for motor MEC90-100-112 | Galvanized steel 8.8 strength class ISO 898/1 M8x20 IS 4017
MEC 132 M12x40 UNI 5739
MEC 160 M16x50 1SO 4017

128-1 Nut for tie rod Galvanized steel M12 UNI 5588

128-3  [Nut (motor) MEC 132 Galvanized steel M12 UNI 5588
MEC 160 M16 1SO 4032

128-5  [Nut for tie rod Galvanized steel M12 UNI 7474

130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923

130-2  [Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

131-1 Pin for shaft Carbon Steel D. 5x35 UNI 4838

135-1 Washer Galvanized steel D. 13x24x2,5 UNI 6592

137-1 Impeller spacer EN 1.4301 (AISI 304)

140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
above 5.5 kW Cast Iron

160 Base Die cast Aluminium EN AB-AISI11Cu2 (Fe)

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304) G 3/8

212-1  |Plug EN 1.4301 (AISI 304) G 3/8

212-2  |Venting plug EN 1.4404 (AISI 316L)

219 Counter flange EN 1.4301 (AISI 304)

245 Coupling guard EN 1.4301 (AISI 304)

273-1  |Plug Washer EN 1.4301 (AISI 304)

615 Flange Nodular Cast Iron

218

E2ARA

EPA



EVMS

VERTICAL PUMPS

50 Hz

QUANTITY FOR MODEL

EVMS10

1
& o fou o feufeu e feu o fou e feu o feu o feu fou e fou | o
Y
g
[l R Bl R el B el Bl e B R B e Bl e Bl B Bl B B
h [t5)
- NIRRT IO SO O S E B D D R
¥
[Tl R e R e B e Bl e B e B R el B e R el B B I~
- Lo T e e e e B e e B e e
N
- MR
62222222222222222222 AMn/_n/_n/‘n/‘n/_n/‘n/_n/‘n/‘n/_n/_n/_n/_n/_n/_n/_n/_n/_n/‘
s N
™ [
B e e B e e e B B e e e e N
han N
ha L2 R e B e Rl R Bl B Bl R B R Rl B e B R e
L
4
LIS [ (N N (R N N [y R (S (U (U NN (N R U Q
— LI R e R B e B e el R Rl B Bl B R PN Rl P B
- —
) =)
: F o fou o foufeufou e foufou feufou foujeuforjeufeu feufaou oy
e Rl el Rl el e B B B B e B R Rl R e R Rl R B -~
— —
- [N T Ll B B B B B e R R RN P B o o B B R
P Ll Rl Rl Rl el B B B B B e Rl B el B el B )
~ ~
Slalol<lvlolrlolo|o=|vs|v|o|o|o|c|v|o @
e R EEE Rl B B B el B PR ENR K Qs |t [T ||t ||| ~ - - -
= ~
oS KoV KV XU KV KoV KV £SVH KV KSUR VIR KSVR KOV YV Q¥R F SV KX [V ESXR KoY -
™~ R AR RS AR E R AR R A E R DA R A
o[-l [~~~ == [~ [~~~ == =[]~~~ 2
=
& [SUR ESUN KoVl KSUR KoVl KSVAR KoV oV Koo s =
PO e Bl e Bl o R B B R B R Ll el R ol R R B R R Rl B Bl B e R R e
0 Z @
o
A R e R R Rl e R e R D e e o R ol R R e Y
SERANARERANARENASANENASENENASENA AN AN
Ll B B R el Lol Ll Lol Ll Ll N Bl B I e ) B B B B -
<
iy
%3333333333333333333
Q v foufoufaufenfoufou e o foufou e feu foufeu o foufoufeu i
©
- R R A A N N N N R R R
DI R R N (R JH ) ) N T S I I S I A ) &
<
@ 0
P R Rl Rl Rl ol Bl Bl R R R RV EVR PV F PV FSN PV F R QNS T T T ST T I TS T T S
< o
Qq )
, Rl IR IR RER Lo R ITe B I Bl ESol S §o2 0 Kep) I
[ il A el Rl Rl Rl Rl el Al e I S R RN Rl (R L K] D~ |~ -1~ N R A A R e
DT e e e e e e e B e B e -
« ERARAR R A A E R A R R A SR R SR A
b Rl Rl Rl Rl Rl R Rl el e el e Rl ol R Rl Rl ol Rl B —~
&)
- o |~ wn© D =N | ™ -
QlNjofs oo fo]o (2|0 YT R2 12121588 P e e e e e e
«
S Bl R Rl B Rl e e R R Rl e R o e R Rl R B B —
O ||l ||| |~ === === == |- ©
5 ISEAANARERANANANANESANANENEN AR AN A AN AN
N R e e B Bl B Bl B e e e B B Bl R el R B B N
0
:ﬁ1111111111222222223
)
o - ™ || © oo .
Fk,.v/12345678991&111%11 ISENANERENENANANANANANANASE N ANANA SN AN
S Rl e R e R e R R e R e R e e e e Rl
iy
e e Rl Rl R e B e B e B e R R B R e B B o e e S 0 I Y 0 I I3 I Y R B e B
B
2 |w ololvwivivlvln|vvl |-
FES Dl Bt Bl RN B Bl Il B B R o e Yo B IR N R TN R B ©
LI NIVNINIOIDIT |5 = |l |F (1|6 |D |0 |=|d|D Q |10 clev|ninin OO~ |~
2 QBT |B S|~ |D|F |~ [— |~ |~ |~ |~ |~ |~ [~n|a|a SR el e B Bl Dt Bl Dl il R R R I IS I I TN R B
WOOOOOOOOOOOOOOOOOOO [SEERISEINE IR [el Col Al Pl Il Pyl BN Vo0 RR NG Foo B FV A R
g |2laloo|alo|alos|ools|oos|oe|o o Il D el i it i B <1 i £ o
O |0 0O 00000000 |OI0IOIT OO0 |0
SZiZZIZ|Z|ZIZIZIZIZIZIZIZIZIZIZIZ|= = S = B el Bl e B el el R Bl el B e P el B e
P P e e e B B e B P D B P e P e P e o DN DD INDIND DD D INDID DD |= DD [ID [N
Ll L N N N L N e e e e R R R R TR R T S2ZzIZZzIZZzIZ2IZZIZIZIZIZIZZ|=
PP e o e P e e P B e P e P e P e
[T} (R (A AR [T {YRN [T} JXU0 JUUR {70 JUQ O {70 OO {70 {100 {70 [ 1T

128-6 / 135-6 : with Aluminium coupling

219

EPA



EVMS

VERTICAL PUMPS

PERFORMANCE CURVE 50 Hz
EVMS15
0 USgpm 20 30 40 50 60 70 80 9 100 110 120 130
| | | ! ! ! | | | | | | | !
| | | T T 1 | | | T 1 |
0 Impgpm. 20 30 4 50 80 70 80 90 100 110
280
- 900
p H
[MPa] (m] H
4 T17/15kW L [f]
24 240 e 800
~~
| \\\
~—_ 700
2.0 1 \\
200 <
| T1311kw ™
1 /1}1 }\ -4 AN L 600
\\ \
1 T N
] ‘ ‘ T~
'8 180 == 11/11kw — __ \\
] 1= — N\ — 500
— ~ N
| [ — T .
—emskw— | ! T N
\ —1 L] I ‘ } N\
I Y "\+ - 300
— —-6/5.5kWw_ __ _|
0.8 — 80 { e — SN I
| — \\\+
I
B . S - 200
— T 4/4.0kW— —_ |
| —~
YO N e T T S T !
—2/2.2kW—=—— —
| ]
——
L | I T
0 100 200 300 400 Q [Umin]
| T T T T T T T T T T T T T T s
0 2 4 6 8 10 12 14 16 18 20 2 24 26 28 Qmm
14 80
P2 — n
|t T—
KW 10 "] % 60 [%
kW] —— n% [
I
08 — = 40
SINGLE IMPELLER kW
02 N T I 20
0 100 200 300 400 Q imin]
NPSH & NPSH
m] — 2w
4
— —10
0 0
0 100 200 300 400 Q [Umin]
Rotation speed K2900 min™
Test standard: ISO 9906:2012 - Grade 3B 220
B E3ARA EPA



VERTICAL PUMPS EVMS

TECHNICAL DATA 50 Hz

EVMS15

Round flange (F) - DN50

1B
o
I 4
&)
Ml
AL 1] oo
> 4 holes 918
| (] ] e
0 i Gams
- 2 ig e
[N
= A
130 22 4 holes 212 ‘ <
190 ‘
300

Note: Dimensions H3, C & B may vary depending on motor type fitted. Dimensions refer to
Ebara factory motors (European) not generally fitted in Australia. Example only.

Dimensions [mm] and Weights [Kg]

Motor

Pmax i 1~ 3~ Weight Weight
Pump Type MPal kw Size A H2 Pung1 Pump + Motor

[ B C H3|B C H3 Pl - 3~
EVMS15 1/1.1 16 1.1 80 |o120]160 151 232[160 139 232] 377 18.8 30.6 29.9
EVMS152/2.2 1.6 22 90L | o140 | 172 140 278|180 148 267| 387 19.1 38.6 35.1
EVMS15 3/3.0 1.6 3.0 100L | o160 | - - - | 196 155 306 | 437 20.4 - 43.2
EVMS15 4/4.0 1.6 4.0 112M | 0160 - - - | 196 155 306 | 477 21.6 - 48.1
EVMS15 5/5.5 1.6 55 | 1325 | 0300 225 160 328|614 | 31.3 69.9
EVMS156/5.5 1.6 5.5 132S | 0300 - - - | 225 160 328| 654 325 - 711
EVMS157/7.5 1.6 7.5 | 1325 | 0300 225 160 350| 694 | 34.7 75.1
EVMS158/7.5 1.6 75 132S | 0300 - - - | 225 160 350| 734 36 - 76.4
EVMS15 9/11 1.6 11| 160 M | 2350 248 194 476|804 | 37.3 99.8
EVMS15 10/11 1.6 11| 160 M | 2350 248 194 476|844 | 386 101.1
EVMS15 11/11 1.6 11 160 M | 2350 - - - | 248 194 476 884 46.6 - 109.1
EVMS15 12/11 25 11| 160 M | 2350 248 194 476|924 | 47.9 110.4
EVMS15 13/11 25 11 160 M | 0350 | - - - | 248 194 476 964 49.2 - 117
EVMS15 15/15 2.5 15 [160M]e@350| - - - |317 238 498|1044 | 51.8 - 140.7
EVMS1517/15 2.5 15 160 M | 9350 | - - - | 317 238 498|1124 54.7 - 143.6

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

221
E2ARA EPA




VERTICAL PUMPS EVMS

SECTIONAL VIEW 50 Hz

EVMS15
T
a 120-13
(€]
Y
7 140
i 120-6
( ol J 128-3
321 \K\ LN
162 — \. - \'&:\ \
13141 Al \ﬁf. 212
130-2 \‘ <=fyg) 75
S N
1304 1114
12038 111-3
245
1281 ’:\“lv" e
S 115
135-1 = 11

with Round flange (F)

222

B E3ARA EPA




VERTICAL PUMPS

EVMS

SECTIONAL TABLE

50 Hz

EVMS15

N° PART NAME MATERIAL DIMENSIONS | STANDARD

4 Casing cover EN 1.4301 (AISI 304)

5-1 Suction casing EN 1.4301 (AISI 304)

5-2 Intermediate Casing EN 1.4301 (AISI 304)

5-3 Intermediate casing bearing EN 1.4301 (AISI 304)

5-4 Discharge casing EN 1.4301 (AISI 304)

6 Bottom casing EN 1.4301 (AISI 304)

7 Outer casing EN 1.4301 (AISI 304)

21 Impeller EN 1.4301 (AISI 304)

EN 1.4301 (AISI 304) -

31 Shaft EN 1.4462 EAISI 3293\)

32-1 Adjuster Key EN 1.4301 (AISI 304)

43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)

43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)

43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)

43-6 Washer EN 1.4404 (AISI 316L) D. 26x2.5

441 Shaft sleeve bearing Tungsten carbide

45 Flange holder EN 1.4301 (AISI 304)

46 Ring (mechanical seal) EN 1.4404 (AISI 316L)

47 Ring Holder EN 1.4301 (AISI 304)

48 Impeller nut A2-70 UNI 7323 with inox insert M10

52-1 Bearing Tungsten carbide

75 0O-Ring (plug) EPDM D. 12.37x2.62 | OR 3050

75-1 0-Ring (plug) EPDM

107 Liner ring EN 1.4301 (AISI 304) + PPS

111 Mechanical Seal SiC/Carbon/EPDM

111-3  [Mechanical seal seat EN 1.4301 (AISI 304)

111-4  [Seal holder EN 1.4301 (AISI 304)

111-5  [Mechanical seal cartridge EN 1.4301 (AISI 304)

115-1 O-Ring (outer casing) EPDM D. 164,46x5,34 OR 6645

115-3  [O-Ring EPDM

115-4  [O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121

115-5 [O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150

120-1  [Tie-rod Galvanized steel 6.8 strength class ISO 898/1 M12

120-3  [Screw A2-70 UNI 7323 M5x12 ISO 4762
up to 4.0 kW M6x25 1SO 4762

120-6  [Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel M8x20 ISO 4762
above 11 kW M10x30 I1SO 4762

120-11 [Screw for counterflange A2-70 UNI 7323
MEC 80 M6x20 1SO 4017

120-13  [Screw for motor MEC 90100112 | Galvanized steel 8.8 strength class ISO 898/1 M8x20 IS 4017
MEC 132 M12x40 UNI 5739
MEC 160 M16x50 1SO 4017

128-1 Nut for tie rod Galvanized steel M12 UNI 5588

128-3  [Nut (motor) MEC132 Galvanized steel M12 UNI 5568
MEC 160 M16 1SO 4032

128-5  [Nut for tie rod Galvanized steel M12 UNI 7474

130-1  |Set screw A2-70 UNI 7323 M5x8 UNI 5923

130-2  |Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

131-1 Pin for shaft Carbon Steel D.5x35 UNI 4838

135-1 Washer Galvanized steel D. 13x24x2,5 UNI 6592

137-1 Impeller spacer EN 1.4301 (AISI 304)

) up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)

140 Coupling above 5.5 kW Cast Iron

160 Base Die cast Aluminium EN AB-AISI11Cu2 (Fe)

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304) G 3/8

212-1 Plug EN 1.4301 (AISI 304) G 3/8

212-2  |Venting plug EN 1.4404 (AISI 316L)

219 Counter flange EN 1.4301 (AISI 304)

245 Coupling guard EN 1.4301 (AISI 304)

273-1 Plug Washer EN 1.4301 (AISI 304)

615 Flange Carbon steel

223

E2ARA

EPA



EVMS

VERTICAL PUMPS

50 Hz

QUANTITY FOR MODEL

EVMS15

N°

115-5

115-4

47 148152-1|75;75-1|107{111{111-3;111-4:111-5} 1151

N°

2731

245

2122

46

10

13

415-1|5-2{5-3(5-4} 6| 7|21|31**32-1,43-2|43-3} 43-443-6| 44-1

1
1

1

1
1

1

1

Pump Type

EVMS15 1/1.1

EVMS15 2/2.2

EVMS15 3/3.0

EVMS15 4/4.0

EVMS15 5/5.5

EVMS15 6/5.5

EVMS15 7/7.5

EVMS15 8/7.5
EVMS15 9/11

EVMS15 10/11

EVMS15 11/11

EVMS15 12/11

EVMS15 13/11

EVMS15 15/15

EVMS15 17/15

120-13|128-1| 128-3|128-5| 128-6| 130-1} 130-2{ 131-1/135-1 1 135-6{ 137-1}140| 160| 162|212, 212-1

120-6

120-3

120-1

Pump Type

EVMS15 1/1.1

EVMS15 2/2.2

EVMS15 3/3.0

EVMS15 4/4.0

EVMS15 5/5.5

EVMS15 6/5.5

EVMS15 7/7.5

EVMS15 8/7.5
EVMS15 9/11

EVMS15 10/11

EVMS15 11/11

EVMS15 12/11

EVMS15 13/11

EVMS15 15/15

EVMS15 17/15

shaft in EN 1.4462 (AISI 329A)

128-6 / 135-6 : with Aluminium coupling

*kk

224

EPA



EVMS

VERTICAL PUMPS
PERFORMANCE CURVE 50 Hz
EVMS20
0 uSgpm. 20 30 40 50 80 70 80 ) 00 110 120 130
| | | | | | | | | | | | | |
| T T T T 1 T T T T 1 |
¢ Impgpm. 20 30 40 50 60 70 80 90 100 110
280
HEER - 900
T T 11
p
[MPe] [T H
B f
b IR R | o
i | | T
- | — -
135W_ 1 T LTS 700
ol L | T SuAERaeSl
b ~— Hl"l‘
| \\\\ _ | ‘ ! ! ‘ H» L 600
fitu TS SRR
16 —101TkW T~ ™
160 S ‘
NRRA e AN NN
— )
o —— RO
— 8ATkWL T~ | N
i Mo ~_ N
12 120 1 — \\‘ \ _400
[ T —— \\\ L'*N
Rikix) — I
/7.5kW — || w
T T TN
nN — NG
— — \ ~
vssw— — {_ | ~ U Lae
e —_ ~
340KW— — | | = ‘
L] i
049 40 T —— ] 1
I __2‘/3-‘0|(|VV‘ —_ — ——— 1 ] I —— — 100
] ~
I I N T ——
o e 1
0 50 100 150 200 250 300 350 400 450 Q [imin]
| T T T T T T T T T T T T T T |
0 2 4 6 8 0 12 4 16 18 22 2 24 2% 28 Qmh
18 80
P2 | —— Tl
w14 — % — &
10 ——— 40
—-S_I-NGLE IMPELLER kW
0.6 i L L L L i L L L L i 20
0 50 100 150 200 250 300 350 400 450 Q [imin]
NPSH 1 3 NPSH
m : - —— 5 M
10
0 0
0 50 100 150 200 250 300 350 400 450 Q [imin]
Rotation speed 2900 min™
Test standard: ISO 9906:2012 - Grade 3B 205
B E3ARA EPA



VERTICAL PUMPS EVMS

TECHNICAL DATA 50 Hz

DIN Round flange (F) - DN50

,LT
B
L
&
@
L]
AT Il cas
| e

4 holes @18

H2

I Iy ] [
« | o Taly 8 , \\ ’ﬂ
of | 8RS N\
= oy in] U ! N T
130 22 4 holes 212 ‘
190
300

Note: Dimensions H3, C & B may vary depending on motor type fitted. Dimensions refer to
Ebara factory motors (European) not generally fitted in Australia. Example only.

Dimensions [mm] and Weights [Kg]

Motor
Pmax s 1~ 3~ Weight Weight

Pump Type [MPa] kw Size A H2 Pump Pump + Motor

B C H3| B C H3 1~ 3~
EVMS20 1/1.5 1.6 1.5 90S | o140 172 140 278|180 148 267| 387 20 37.8 32.7
EVMS20 2/3.0 1.6 3.0 100L | o160 | - - - | 196 155 306| 397 19.1 - 41.9
EVMS20 3/4.0 1.6 4.0 112M | 0160 | - - - | 196 155 306| 437 20.5 - 47
EVMS20 4/5.5 1.6 55 132S | 2300 | - - - | 225 160 328| 574 26.4 - 65
EVMS20 5/7.5 1.6 7.5 132S | 2300 | - - - | 225 160 350| 614 27.7 - 68.1
EVMS20 6/7.5 1.6 75 132S | 9300 | - - - 1225 160 350| 654 28.9 - 69.3
EVMS20 7/11 1.6 11 160 M | 2350 | - - - | 248 194 476| 724 31.2 - 93.7
EVMS20 8/11 1.6 11 160 M | 2350 | - - - | 248 194 476| 764 43 - 105.5
EVMS20 9/11 1.6 11 160 M | 2350 | - - - | 248 194 476| 804 44.3 - 106.8
EVMS20 10/11 25 1" 160 M | 0350 | - - - | 248 194 476| 844 45.7 - 108.2
EVMS20 11/15 25 15 160 M | 2350 | - - - | 317 238 498| 884 47 - 135.9
EVMS20 12/15 25 15 160 M | 2350 | - - - | 317 238 498| 924 48.3 - 137.2
EVMS20 13/15 25 15 160 M | 2350 | - - - | 317 238 498| 964 49.6 - 138.5
EVMS20 14/18.5 25 18.5 160L | @350 - - - | 317 238 542| 1004 51 - 155
EVMS20 15/18.5 25 18.5 160L | @350 - - - | 317 238 542| 1044 52.3 - 156.3
EVMS20 16/18.5 2.5 18.5 160L | 9350 | - - - | 317 238 542| 1084 53.6 - 157.6

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

226
E2ARA EPA




VERTICAL PUMPS EVMS

SECTIONAL VIEW 50 Hz

EVMS20
T
a 120-13
(€]
Y
7 140
i 120-6
( ol J 128-3
321 \K\ LN
162 — \. - \'&:\ \
13141 Al \ﬁf. 212
130-2 \‘ <=fyg) 75
S N
1304 1114
12038 111-3
245
1281 ’:\“lv" e
S 115
135-1 = 11

with Round flange (F)

227

B E3ARA EPA




VERTICAL PUMPS

EVMS

SECTIONAL TABLE

50 Hz

EVMS20

N° PART NAME MATERIAL DIMENSIONS | STANDARD
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing EN 1.4301 (AISI 304)
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
EN 1.4301 (AISI 304) -
81 Shaft EN 1.4462 EAISI 3293-\)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-6 Washer EN 1.4404 (AISI 316L) D. 26x2.5
441 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M10
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3  [Mechanical seal seat EN 1.4301 (AISI 304)
111-4  [Seal holder EN 1.4301 (AISI 304)
111-5  [Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1  |O-Ring (outer casing) EPDM D. 164,46x5,34| OR 6645
115-3 |O-Ring EPDM
115-4  |O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121
115-5  |O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150
120-1 Tie-rod Galvanized steel 6.8 strength class ISO 898/1 M12
120-3  [Screw A2-70 UNI 7323 M5x12 I1SO 4762
up to 4.0 kW M6x25 1ISO 4762
120-6  [Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel M8x20 1ISO 4762
above 11 kW M10x30 1ISO 4762
120-11 [Screw for counterflange A2-70 UNI 7323
MEC 90-100-112 M8x20 1SO 4017
120-13 |Screw for motor MEC 132 Galvanized steel 8.8 strength class 1ISO 898/1 M12x40 UNI 5739
MEC 160 M16x50 1SO 4017
128-1 Nut for tie rod Galvanized steel M12 UNI 5588
128-3  [Nut (motor) MEC 132 Galvanized steel M12 UNI 5588
MEC 160 M16 1SO 4032
128-5  [Nut for tie rod Galvanized steel M12 UNI 7474
130-1 [Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2  [Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D. 5x35 UNI 4838
135-1 Washer Galvanized steel D. 13x24x2,5 UNI 6592
1371 Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1  |Plug EN 1.4301 (AISI 304) G 3/8
212-2  [Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304)
245 Coupling guard EN 1.4301 (AISI 304)
273-1  |Plug Washer EN 1.4301 (AISI 304)
615 Flange Carbon steel

228

E2ARA

EPA



EVMS

VERTICAL PUMPS

50 Hz

QUANTITY FOR MODEL

EVMS20

0 B_2222222222222222
L e e e e e el e R R L e e e e Bl B N
< 1o}
e B B B R R e Lol ol Bl o B ) R B e B N R R R R R A R D A R DR R B
o o
O fou o feu ] eufoufou o feuforfeu feu o e oo fou PV [ Ny Ny R DU N N N N U N (N (R -
\n N
® =
Fl Ll e B B e B B e El e e R L B e QU fou o ou || ou | e oufenfou e feu fou e o feufou
hy Y]
4.. o
Sl R e e e e R e e R e R R e e B 1N
- o
- O |+ ||| |||~ ===~ |~ |~ ||~
s 3 O
B B e B T e e e e e o
- < oo e fou|oufoufou fou fou fou fou fou e |eufeufeu
~
S| |afo|s]ofo|r|olo|2]z a2z ]ofe -
- [N R e B B B e R Bl B Rl B R ol R B
= )
@
b e eu e foufou|o e feu o fou oo e feu =
~ ¢
R gl
- -
Pl Al A At B e el AR X R A D R S %_4444444444444444
O [ e [ = | = = = | = = = = = == ht
<~ —
~ on<_|u1111T1T1T1TT1TTT
o
D R e R B R B e B R B R Bl R B R B ®
Q
Q fou v feufeu foufouaufou [ fou feufou e fau e fou AREREASAERE AR AR Al Al Rl
AT R ) ) S N I I B N S T Y %_3333333333333333
~ -
el I N I A ) ) A A S < @
2 @l |l |~ |~~~ |~~~ == == 1=
= -
I Rl At Bl Aadt Ral Rl ESUR ESVR ESVA KoV ES XaVA ¥ o VIR EQVM KoV XoV] L]
~ AR AL AR AR R AR R DRl
) -
3 Rl Rl At Rudl Rl Al ESURKSVI SV oV ESUM KQVR KoV KSVA KoVR Jo¥)
h @
~ % ~i~ | |FF T |F|F T || T T
Y i S G R CI E i R e e R S L -
o] Y &< lelelelele]<]e e o o o fe ]|
S -
b &)
H -
£2% bk Atk Ak A il il el B bl R U R R R R O ) )
&
Sl lajojstivlo|r~|olo 2D MR |T|Lele
™~ ©
ISEREAENANERENASE AN A SANE N ARE AN
© |~ |+~ [~~~ T~~~ -
b (| U [y R Ny Ry N R (N NG N R
)
™
M1111112222222222 %_4444444444444444
M ~|lajo|t | |wjo~fo|o|2|z N2
I A A A A A A A A A Qi it |v ||| |v | |v |||z x|+
S |—l=|=l=l=|=|=|=f=|=]=l=|=|= |~ I~ -
Iy [To}l [ToN ITe)
® © |10 10
S |ojololwlolnl |- |E|2|2]|e|2 2|2 =3 ololvlwlw =|o|o|w|o|o|®
= S DY 1o 0 N T ) g ) B hag R N SRR ISR ISR LR ECH LOR B S R M e el e e e b
QLI |e N TIC|S|-|d|a|F|v|o L R I N A T N N S N R L 3 =
m.1234567891111111 a MZNMS&?WQWMQHM%%
S |IRIRIRIRIRIRIRIRIRIRILIRIRIRIRIR E |olololololololololololololololo
o ninlnlninlnloloinlninlnlnlnlnin > (SR XV LSV KoV RSV KoVR KoVl H oV RSV K VIR SV KoV KR KSVRR XoUR KoV}
SISISISIZEISIZEISIZISIZIZISIEEE L 00D |0|DI0]|D|0INI0|0[N|0 0[N
A A A A A HHHHHHHHE R
[0 {7 {7 [ o [T ) ) e oy o) e T o o ol

*+ ] shaftin EN 1.4462 (AISI 329A)

128-6 / 135-6 : with Aluminium coupling

229

EPA



VERTICAL PUMPS EVMS

PACKING DRAWING 50 Hz
EVMS 1-3-5-10-15-20

<2g” TYPE 1

|
-

TYPE 2

TYPE 3

300

B E3ARA EPA




VERTICAL PUMPS

EVMS

PACKING DATA

50 Hz

EVMS1-3-5

Note: Pumps with motor dimensions refer to Ebara Factory motors (European). Not generally fitted in Australia. Example purpose only.

Pumps Pumps with motor ~1 Pumps with motor ~3

bump type Packing [mm] Weight + Pack Packing [mm] Weight + Pack Packing [mm] We_ight . Pack

X v 7 Packing [kg] Type X v 7 Packing [kg] Type X Y 7 Packing [kg] Type
EVMS1 2/0.37 385 400 385 12.3 1 385 400 585 20.2 1 385 400 585 18.9 1
EVMS1 3/0.37 385 400 385 12.8 1 385 400 585 20.7 1 385 400 585 19.4 1
EVMS1 4/0.37 385 400 385 13.2 1 385 400 770 21.5 1 385 400 770 20.2 1
EVMS1 5/0.37 385 400 585 14.2 1 385 400 770 22.0 1 385 400 770 20.7 1
EVMS1 6/0.37 385 400 585 14.6 1 385 400 770 22.4 1 385 400 770 211 1
EVMS1 7/0.37 385 400 585 15.0 1 385 400 770 22.8 1 385 400 770 21.5 1
EVMS1 8/0.37 385 400 585 15.5 1 385 400 770 23.3 1 385 400 770 22.0 1
EVMS1 9/0.55 385 400 585 15.9 1 385 400 770 25.1 1 385 400 770 22.8 1
EVMS1 10/0.55 385 400 585 16.3 1 385 400 770 25.5 1 385 400 770 23.2 1
EVMS1 11/0.55 385 400 585 16.8 1 385 400 770 26.0 1 385 400 770 23.7 1
EVMS1 12/0.55 385 400 585 17.5 1 385 400 770 26.7 1 385 400 970 24.4 1
EVMS1 13/0.55 385 400 585 18.1 1 385 400 970 27.9 1 385 400 970 25.6 1
1 EVMS1 14/0.75 385 400 770 19.3 1 385 400 970 31.5 1 385 400 970 29.6 1
EVMS1 16/0.75 385 400 770 20.3 1 385 400 970 32.5 1 385 400 970 30.6 1
EVMS1 18/1.1 385 400 770 21.4 1 385 400 970 34.0 1 385 400 970 33.3 1
EVMS1 20/1.1 385 400 770 224 1 385 400 970 35.0 1 385 400 970 34.3 1
EVMS1 22/1.1 385 400 770 23.6 1 385 400 1170 36.8 1 385 400 1170 36.1 1
EVMS1 24/1.1 385 400 970 25.0 1 385 400 1170 37.8 1 385 400 1170 37.1 1
EVMS1 26/1.1 385 400 970 26.0 1 385 400 1170 38.8 1 385 400 1170 38.1 1
EVMS1 27/1.5 385 400 970 26.4 1 400 510 1200 45.2 1]12] 8385 400 1170 41.4 1
EVMS1 29/1.5 385 400 970 27.4 1 500 525 1350 66.1 3 500 525 1350 62.3 3
EVMS1 32/1.5 385 400 1170 29.3 1 500 525 1350 67.4 3 500 525 1350 63.6 3
EVMS1 34/1.5 385 400 1170 30.2 1 500 525 1350 68.3 3 500 525 1350 64.5 3
EVMS1 37/2.2 385 400 1170 31.6 1 500 525 1540 741 3 500 525 1540 69.5 3
EVMS1 39/2.2 385 400 1170 32.6 1 500 525 1540 75.1 3 500 525 1540 68.9 3
EVMSS3 2/0.37 385 400 385 12.4 1 385 400 600 20.3 1 385 400 585 19.0 1
EVMSS 3/0.37 385 400 385 12.8 1 385 400 600 20.7 1 385 400 585 19.4 1
EVMS3 4/0.37 385 400 385 13.2 1 385 400 770 21.5 1 385 400 770 20.2 1
EVMSS3 5/0.55 385 400 585 14.2 1 385 400 770 23.4 1 385 400 770 21.1 1
EVMS3 6/0.55 385 400 585 14.6 1 385 400 770 23.8 1 385 400 770 21.5 1
EVMS3 7/0.75 385 400 585 15.5 1 385 400 770 27.6 1 385 400 770 25.7 1
EVMS3 8/0.75 385 400 585 16.0 1 385 400 770 28.1 1 385 400 770 26.2 1
EVMS3 9/1.1 385 400 585 16.4 1 385 400 770 28.9 1 385 400 770 28.2 1
EVMS3 10/1.1 385 400 585 16.9 1 385 400 770 29.4 1 385 400 770 28.7 1
EVMS3 11/1.1 385 400 585 17.3 1 385 400 970 30.4 1 385 400 970 29.8 1
EVMS3 12/1.1 385 400 585 18.0 1 385 | 400 970 31.1 1 385 400 | 970 30.4 1
EVMS8 13/1.5 385 400 770 19.0 1 385 400 970 37.6 1 385 400 970 33.8 1
3 EVMS3 14/1.5 385 400 770 19.4 1 385 | 400 970 38.0 1 385 400 | 970 34.2 1
EVMS3 15/1.5 385 400 770 19.9 1 385 400 970 38.5 1 385 400 970 34.7 1
EVMS3 16/1.5 385 400 770 20.9 1 385 400 970 39.6 1 385 400 970 35.7 1
EVMS3 17/2.2 385 400 770 214 1 385 400 970 41.7 1 385 400 970 38.2 1
EVMSS3 19/2.2 385 400 770 22.4 1 385 400 1170 43.3 1 385 400 1170 39.8 1
EVMS3 21/2.2 385 400 770 23.3 1 385 400 1170 44.2 1 385 400 1170 40.7 1
EVMSS 23/2.2 385 400 970 24.7 1 385 400 1170 45.2 1 385 400 1170 41.7 1
EVMS3 24/2.2 385 400 970 251 1 385 400 1170 45.6 1 385 400 1170 421 1

EVMS3 25/3.0 385 400 970 25.7 1 - - - 400 510 1200 49.5 112
EVMSS 27/3.0 385 400 970 26.7 1 - 500 525 1350 70.4 3
EVMS3 29/3.0 385 400 970 27.6 1 - 500 525 1350 71.3 3
EVMSS 31/3.0 385 400 1170 29.2 1 - 500 525 1350 72.3 3
EVMS3 33/3.0 385 400 1170 30.0 1 - - - - - 500 525 1350 73.1 3
EVMS5 2/0.37 385 400 385 12.9 1 385 400 600 20.8 1 385 400 585 19.5 1
EVMS5 3/0.55 385 400 385 13.4 1 385 400 770 231 1 385 400 770 20.8 1
EVMS5 4/0.75 385 400 585 14.9 1 385 400 770 27.0 1 385 400 770 25.1 1
EVMS5 5/1.1 385 400 585 15.5 1 385 400 770 279 1 385 400 770 27.2 1
EVMS5 6/1.5 385 400 585 16.1 1 385 400 770 34.6 1 385 400 770 30.8 1
EVMS5 7/1.5 385 400 585 16.5 1 385 | 400 970 35.6 1 385 400 | 970 31.8 1
EVMSS5 8/2.2 385 400 585 17.0 1 385 400 970 37.8 1 385 400 970 34.3 1
EVMS5 9/2.2 385 400 585 17.6 1 385 400 970 38.4 1 385 400 970 34.9 1
EVMS5 10/2.2 385 400 770 18.5 1 385 400 970 38.8 1 385 400 970 35.3 1
5 EVMS5 11/2.2 385 400 770 19.4 1 385 | 400 970 39.7 1 385 400 | 970 36.2 1
EVMS5 12/3.0 385 400 770 20.6 1 - - - - - 385 400 970 44.5 1

EVMS5 13/3.0 385 400 770 21.2 1 - - - - 400 510 1200 45.4 112

EVMS5 14/3.0 385 400 770 21.7 1 - 400 510 1200 45.9 112

EVMS5 15/3.0 385 400 770 22.8 1 - - - - - 400 510 1200 47.0 112
EVMS5 17/4.0 385 400 970 239 1 - 400 510 1200 60.4 2
EVMS5 19/4.0 385 400 970 25.0 1 - 400 510 1200 61.5 2
EVMS5 20/4.0 385 400 970 27.3 1 - - - - - 500 525 1350 74.6 3
EVMS5 23/5.5 385 400 1170 34.5 1 - 500 525 1540 96.1 3
EVMSS5 25/5.5 385 400 1170 35.5 1 - 500 525 1540 97.1 3
EVMSS5 27/5.5 500 525 1350 57.3 3 - 500 525 1540 98.6 3

301

E2ARA

EPA



VERTICAL PUMPS

EVMS

PACKING DATA

50 Hz

EVMS10-15-20

Note: Pumps with motor dimensions refer to Ebara Factory motors (European). Not generally fitted in Australia. Example purpose only.

Pumps Pumps with motor ~1 Pumps with motor ~3

bump type Packing [mm] Weight + Pack Packing [mm] Weight . Pack Packing [mm] Weight + Pack

X v z Packing [kg] Type X v z Packing [kg] Type X v z Packing [kg] Type
EVMS10 2/0.75 385 400 585 19.9 1 385 400 770 32.0 1 385 400 770 30.1 1
EVMS10 3/1.5 385 400 585 20.9 1 385 400 770 394 1 385 400 770 35.6 1
EVMS10 4/2.2 385 400 585 21.7 1 385 400 770 41.9 1 385 400 770 38.4 1
EVMS105/2.2 385 400 585 22,5 1 385 400 970 43.3 1 385 400 970 39.8 1
EVMS10 6/2.2 385 400 585 23.4 1 385 400 970 44.2 1 385 400 970 40.7 1

EVMS10 7/3.0 385 400 585 24.3 1 - - - - - 400 510 1200 48.4 112

EVMS10 8/3.0 385 400 770 25.7 1 - - 400 510 1200 49.3 1 \ 2
EVMS10 9/4.0 385 400 770 26.5 1 400 510 1200 63.4 2
EVMS10 10/4.0 385 400 770 27.4 1 400 510 1200 64.2 2
10 | EVMS1011/4.0 385 400 770 29.0 1 - - 400 510 1200 65.9 2
EVMS10 12/5.5 385 400 970 39.2 1 400 510 1200 87.8 2
EVMS10 14/5.5 385 400 970 41.0 1 500 525 1350 100.5 3
EVMS10 15/5.5 385 400 970 41.9 1 - - 500 525 1350 101.4 3
EVMS10 16/7.5 385 400 970 42.9 1 500 525 1350 104.2 3
EVMS10 18/7.5 400 510 1200 45.3 112 - - - - - 500 525 1540 108.5 3
EVMS1019/7.5 400 510 1200 46.2 1l2 500 525 1540 109.9 3
EVMS10 21/7.5 400 510 1200 48.0 112 - - - - - 500 525 1540 1114 3
EVMS10 22/11 400 510 1200 59.3 2 610 525 1750 136.1 3
EVMS10 23/11 500 525 1350 76.8 3 - - - - - 610 525 1750 142.0 3
EVMS15 1/1.1 385 400 585 21.2 1 385 400 770 33.7 1 385 400 770 33.0 1
EVMS15 2/2.2 385 400 585 215 1 385 400 770 41.7 1 385 400 770 38.2 1

EVMS15 3/3.0 385 400 585 22.8 1 - - - - - 400 510 1200 46.9 1 \ 2
EVMS15 4/4.0 385 400 585 24.0 1 - - 400 510 1200 60.2 2
EVMS15 5/5.5 385 400 770 34.2 1 400 510 1200 83.2 2
EVMS15 6/5.5 385 400 770 35.4 1 - - 400 510 1200 84.4 2
EVMS15 7/7.5 385 400 770 37.6 1 400 510 1200 88.4 2
15 | EVMS158/7.5 385 400 970 39.4 1 - - 400 510 1200 89.7 2
EVMS15 9/11 400 510 1200 45.4 12 500 525 1350 125.2 3
EVMS15 10/11 400 510 1200 47.7 1l2 500 525 1540 127.8 3
EVMS15 11/11 400 510 1200 49.9 112 - - - - - 500 525 1540 135.3 3
EVMS15 12/11 400 510 1200 60.8 2 500 525 1540 137.3 3
EVMS15 13/11 400 510 1200 62.1 2 - - 500 525 1540 138.6 3
EVMS15 15/15 400 510 1200 64.7 2 610 525 1750 167.6 3
EVMS15 17/15 500 525 1350 78.9 3 - - - - - 610 525 1750 170.5 3
EVMS20 1/1.5 385 400 585 21.4 1 385 400 770 39.7 1 385 400 770 39.0 1
EVMS20 2/3.0 385 400 585 22.0 1 - - - - - 385 400 770 45.0 1

EVMS20 3/4.0 385 400 585 22.9 1 - - 400 510 1200 50.0 1 \ 2
EVMS20 4/5.5 385 400 770 29.3 1 - - 400 510 1200 78.3 2
EVMS20 5/7.5 385 400 770 30.6 1 400 510 1200 81.4 2
EVMS20 6/7.5 385 400 770 31.8 1 - - 400 510 1200 82.6 2
EVMS20 7/11 385 400 970 40.0 1 500 525 1350 119.3 3
20 EVMS20 8/11 400 510 1200 46.3 112 - - - - - 500 525 1350 129.7 3
EVMS20 9/11 400 510 1200 47.6 12 500 525 1350 131.0 3
EVMS20 10/11 400 510 1200 49.0 112 - - - - - 500 525 1540 134.9 3
EVMS20 11/15 400 510 1200 50.0 il2 500 525 1540 162.8 3
EVMS20 12/15 400 510 1200 61.2 2 500 525 1540 164.1 3
EVMS20 13/15 400 510 1200 62.5 2 - - 500 525 1540 165.4 3
EVMS20 14/18.5 400 510 1200 63.9 2 610 525 1750 181.9 3
EVMS20 15/18.5 400 510 1200 65.2 2 610 525 1750 183.2 3
EVMS20 16/18.5 400 510 1200 66.5 2 610 525 1750 184.5 3

302

E2ARA

EPA



VERTICAL PUMPS

EVMS

TECHNICAL MOTOR DATA

50 Hz

Standard motors fitted are 3 Phase
WEG W21 motors, E2, IP55, Class F :-
- Aluminium motors 0.37 to 7.5 kW

- Cast Iron motors 11 & 15 kW

Motor kW | 0.37|055]0.75] 1.1] 15| 22 [ 30[ 40| 55| 7.5 [ 11.0] 150[ 185
Frame Size | 71 | 71 | 80 | 80 | 90S | 90L | 100L|112M|132S|132S [160M|160M| 160L
FLC # 0.875 1.22| 1.58 | 2.40| 3.01 | 4.39 | 577 | 7.45|10.2| 13.9 | 20.2 | 27.1 | 33.7
Mount Facertical - B14A (V18) Yertical

Flange Mount ~ B5 (V1)

* FLC = Motor full load current (A) @ 400 V (W21 motors)

TYPICAL NOISE DATA

Coupling Flange Size Power Noise
(MEC) kWl | [Pl | LpA-dB(A)*
0.37 0.5
n <70
0.55 0.75
0.75 1
80 <70
1.1 1.5
90 S 1.5 2
<70
90 L 2.2 3
100 L 3.0 4 <70
112 M 4.0 55 <70
55 7.5
1323 72
7.5 10
11 15
160 M
15 20 74
160 L 18.5 25

400

EPA



	performance evmsg 1
	performance evmsg 3
	performance evmsg 5
	performance evmsg 10
	performance evmsg 15
	performance evmsg 20
	selection chart 1 3 5
	selection chart 10 15 20
	tomb evmsg
	~$~$EVMS Techdata March 2016 for review and edit 030516
	1. SPECIFICATIONS 
	2. EVMS 1-3-5-10-15-20 
	2.1 PRODUCT FEATURES 
	2.2 PRODUCT SPECIFICATIONS 
	2.3 SHAFT SEAL 
	2.4 TYPE KEY and NAMEPLATE
	2.6 CURVE SPECIFICATIONS 
	2.14 PACKING 

	4. MOTOR DATA 
	4.1 NOISE DATA 



